) YRt 44 w8,

Do not open this Test Booklet until you are asked to do so.
P6 ol Yl sqeul L 203 i yell v yRas vilgel] «T
Read carefully the Instructions on the Back Cover of this Test Booklet.
2L MR YRS ML s9R W WE YR faedl ki,
Important Instmptipns : 2o YD) :
| hoAnswer Sheotis ;ﬁgﬁzgfgﬁgﬁe;kﬁﬁ Lo Ry vier Gl 8. o wred et yRust
the Answer Sheet and fill in the particulars on ’"ﬂ(ﬂl—i séeul 2, 4R Guzald [swil gy -1 Vel
;:Ille;}]ﬁ?d side-2 carefully with blue/black ball point -2 'R A Radl s50 cuzollsiedl vl QLE_S-E Aetel] 2419201 A
2. The test is of 8 hours duration and Test Rooklet AU ¢ -

contains 180 questions. Each question carries 4 | 5 Rzl ouell 3 sesl B 213 w1 YRRHsM 180 Hall B,

marks, For each correct response, the candidate will N :
get 4 marks. For each incorrect response, one mark H"q‘{‘ 3 4 HisHL S, ucls AL sriet i Reuein 4 m{’

will be deducted from the total scores. The maximum | wyyej . Heds vilel svetiod w2 ga il 1w
o el sl 218l Hee Wi 720 ©

3. ‘Use Blue/Black Ball Point Pen only for writing ’ : _
particulars on this page/marking responses. 3. = et W vt avtell amd ¥ Rell s:edl avid gsal

4. Rough work is to be done on the space provided for sull/sill otie U2 Seiell B0l s3L.
this purpose in the Test Booklet only. ' '

5. On completion of the test, the candidate must | 4. % st &d 21 Y&asmi 200a PaiRa 2euepuisy 531,

hand over the Answer Sheet to the invigilator 5. R 20um w) wedl, el /¢l Bigal udan Geralk |, - -

before leaving the RoonmyHall. The candidates . : T A _ "
are allowed to take away this Test Booklet with wi-Mkasd s usl A uRauell q‘im'ﬂ W

them. - a0 us-uRAs A o o D,

6. The CODE for this Booklet is P6. Make sure that by ' ~ o
the CODE printed on Side-2 of the Answer Sheet ig | 6. e g@%lﬂ\l sls P68, 3 wiadl el 3 24 g-@!&m ‘;;LS’

the same as that on this Test Booklet. In case of | @urellérll vtisy~2 w2 s9det 51s 208 Ao vyt B, ) L 2nctoy

discrepancy, the candidate should immediately report Sl o) Wauefl o{ley ey 3'[@13[ 2t Gozald A RGeasa
thie matter to the Invigilator for replacement of both w5 ' :
the Test Booklet-and the Answer Sheet. | el st R, _ | B

7. The candidates should ensure that the Answer Sheet | 7 yRaue B @P{@m 2% 2 GeRally ad) ] 2 A R
1s not folded. Do not make any stray marks on the A8 ot . Bl Netid 2t

a . o
No.: 7785037
Test Booklet Code | ' >
wRa yRasl sl AmE This Booklet contains 44 pages.
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-Answer Sheet. Do not write your Roll No. anywhere . oy - W Hﬂf@'&v ®QQQHL ’
else except in the specified space in the Test Booklet/ (Rl 2ot Rroua izt s vt 1, |
Answer Sheet, : ” 3 o

8. Use of white fluid for correction is NOT permissible 8. Gyl dluan AR YARL e cqtde-Ererll Glio
on the Answer Sheet. $3el] M{L‘t[a 3],

In case of any ambiguity in translation of any question, Engh'sh version shall be treated as final.
WAL Seuenl S5 vevzetdl AR, vy wheva o LM War 2L,

Name of the Candidate (in Capitals) -
Whrauelld < (alier madla) ;
Roll Number : in figures
BrAEY : sl
:in words
s QBB
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WRE Irg (et L)
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Pé6

Select the incorrect statement.
(1) Inbreedingincreases homozygosity.

@)  Inbreeding is essential to evolve purelines
in any animal. :

(3) Inbreeding selects harmful recessive genes
that reduce fertility and productivity.

(4)  Inbreeding helps in accumulation of guperior

genes and elimination of undesirablegenes. | .

Whi:_:li of the statements given below is not true
about formation of Annual Rings in trees?

(1)  Annualringis a combination of spring wood

and autumn wood produced in a year.
@  Differential activity of cambium causes light

and dark bands of tissue - early and late

wood respectively. = |
(3  Activity of cambium depends upon variation
in climate.

(4 - Annualrings are not prominent in trees of
temperate region,

Under which of the following conditions will there
be no change in the reading frame of following
mBNA?

5 AACAGCGGUGCUAUU 3

(1)  Insertion of G at 5" position.

(2  Deletion of G from 5th position

(3) InsertionofA and G at. 4™ and 5t positions
respectively N

(@) Deletion of GGU from 7th, 8th and 9th
positions '

The frequency of recombination between gene pairs
on the same chromosome as a measure of the

distance between genes was explained by :
(1) T.H.Morgan

(2). Gregord. Mendel
(3)  Alfred Sturtevant
4)  Sutton Boveri

Which of the following contraceptive methods do
involve a role of hormone ?

(1)  Lactational amenorrhea, Pills, Emergency
contraceptives . :

(2) Barrier method, Lactational amenorrhea,
Pills
(3) CuT, Pills, Emergency contraceptives

{4) Pills, Emergency contraceptives, Barrier
methods '

[Engish+Gujarat |

Wi, R wais 5.

(1) csyreiel AHYFHAL 48R B,

@  idsereid sigugL el g 2L (purelines)
Al Q51 32 3l O0as 9.

@) wctsrend 452USRS PR sp=flell WRiE 63 B
3@ sargmdl 20 sl RE el S,

@y widsretr G2 2L orllriledl szl sy
4Bt srellAlnl §2 SR UEE K B.

ygliul s cieedl -1 (il e 2 sl & [Benn uey

«2ll 7

) s cgd B ] g Gl ARasS el
2128 so6elL Hlloet 8l ol 8.

@ Wl el gl spiRiaciel sR3 v i Ul
vzl A2l Aot HA B o 2irfgl yelsivs 2in
WS D, - :

@ <l Barladl gari 38R W el Sl

@  wuelidive Brare getsl i e 2 ErsNs
g -

3w mRNA i 12 41l 56 Rl AL 3l 815

33512 uctl 2l

5 AACAGCGGUGCUAUU &

(1) 53 RAA G A Eve sal 29

@ 5u A Rl G el A L

@ 4% i UL UA W Rirggd A 2l G R
PECTIESI

(@) 7o, 8L A 9l 2 el GGU o (el

orellet s T & L o0 PRELR A9 S Al Yt dstetell
QUsacll Al 92 Rl ek W ek S 8 d 2l
G131 Rt AU,

@ &Ll bl

@ Do, At

Q) ushs e

@ e olldil

09 344 56 alRRas ugliul »ida wR owd

8 1

A AR Bk, o, Gueril rzindlen

@ Al A, AR AR, ':-T_wﬂwﬂ

@  CuT, olelal, Susi-all giidlen

@ ol sl Sirgrndlen, Al (icri)
S
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Whif;h of these fallﬂwing methods is the most

3

P6

6. 6. el Ul o gl 2ueelly séie Pisic w3 wi)ef] 44
suitablé for disposal of nuclear waste ? Biejsn 3 9
() Shoot the waste into space ' 3 . 3 14
2 Bury the waste under Antarctic ice-cover L) s th_&l«‘iml 5 f ' .
3  Dump the waste within rocks under deep @ ﬁ'a’é&ﬁl_q% A2 32{%}‘. Bl s,
. ocean @ Glst usRuorRl] visdldl @ s sracd 6.
4) Bury L;he waste within rocks deep below the @) (;1@,'{[ 1wl A3 Yo wgdl- 923 szl gl
Earth's surface 2 ok M
‘7. Which of the following glucose transporters is 7. A3 Yl ) :%s;‘md S g,;.gah YR 2iadolq & 9
insulin-dependent? ' :
Ui _ (I GLUTI
) GLUTI @ GLUTII
@  GLUTIL ® GLUTHI
® GLUTII @ GLUTIV
4 GLUTIV | _ .
__ . : 8. Ay Rl 590 Y *Qvael e w4 WU 1@2e¢ly
8 Theciliated epithelial cells are required to move S19) 2115 . Wil w0 4ol Yuiee A gl
particles or mucus in a specific direction. In By e ,
humans, these cells are mainly present in : ey
@)  Bileduct and Bronchioles | oy xﬂﬂd"_ﬂ 4], AFH ARURs1
(2} Fallopian tubes and Panereatic duct @ gl ma H@ﬂs Q51
(3  Eustachian tube and Salivary duct @ YRRy AR 2 cun A1
4@  Bronchiolesand Fallopian tubes @ e MUREL 2 wiseRedl
9. Which one of the following statementg regarding : ;
post-fertilization development in floweringplants | & 4™ q'_'_l%qﬁm et e s w2 9 49 53
iginecorrect ? Qe "*ilg 8 7 :
(D) Ovary develops into fruit O olloter snwi ubod 8.
@ Zygote develops into embiys @ &lAnis 3 oporti wRed B,
(3  Central cell dev?lops mto endosperm @ Bl @rﬁ%ﬂ) Sl @gg'mh w8,
4  Ovules develop into embryo sac y i
| @ g8l gere ui yRked 8,
10.  Which of the following factors ig responsible for o _
the formation of concentrated urine ? 10. g 3 el w19 %‘lj 4 Wlotn syenoier 8 7
D Lowlevelsof antidiuretic hormone. {1 a?{-a'l—smg%iés ’t_*icl:?;ll'?{j -[iﬂ 2191 (2448 ’*uﬁll)
medullary interstitium in the kidneys. @ % e % Hudl ued 6
. s g AR sterepel] -
@3 Secretion of erythropoietin by '
Juxtaglomerular complex, {3) 5L 0\’.{1?13&1% U§d glal é&%&‘*&ﬁa‘l—fﬂ Al
(4  Hydrostatic pressure during glomerular (4) Oc-ﬂﬂsﬁﬁ HUNRE 1Yy élﬁﬁ%ﬂa MR
filtration.
0 TG T R BN R Y Geunt g el Beioy Uy B,
. takes very ong € 1or pmeapple plants to . 2 -
produce flowers. Which combination of hormones S sl m{q,mq: AR AU 3 ] %Effﬂ A
can be applied to artificially induce flowering in WA -l yrulgeiet Al 54, 2 ] gravn
Pineapple plants throughout the year to increase Beute-t aidl usiy 7
yield? - -
D 2igofld 24 delleflvy
(1)  Auxinand Ethylene @ il
®  Gibberellin and Cytokin @ ol 2 URAS -l
(3. Gibberellin and Abscisic acid @ DUl 2 NoARs DR
9 Cytokinin and Abscisic acid @ uEelseedd 2 Do Ris SR
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P6.

12.

: 5 :

14.

15.

16.

17.

Which of the following is a commercial blood
cholesterol lowering agent ?

(1) Cyn::lc_nspormf‘i
@ Statin

3 Streptokinase
(4)  Lipases

Which of the following immune responses 1s
responsible for re;ectmn of kidney graft ?

(1) Auto- immune response -

(2) Humoralimmune response

3) Inflammatory immune response
(4)  Cell-mediated immune resp onse

Extrusion of second polar body from egg nucleus
oCCurs :

(1)  after entry of sperm but before fertilization
‘@ - after fertilization |

@) Dbefore entry of sperm into ovum

@) simultaneously with firgt cleavage

Which of the following muscular disorders is
inherited ?

(1) Tetany

@’ Muscular dystrophy

(8) Myasthenia gravis

{4) Botulism

Xylem translocates :

(1) Wateronly.

(2) Waterand mineral salts only

(3) Water, mineral salts and some organic
nitrogen only

(4) Water, mineral salts, some organic nitrogen

and hormones

How does steroid hormone influence the cellular
activities ? :

Changing the permeabﬂﬂy of the cell

@
membrane.

(2 Binding to D'NA and forming a
gene-hormone complex.

(3)  Activating eyclic AMP located on the cell
membrane.

(4) Using '_aqii-apbﬁn channels as second

messenger.

4

12.

13.

14.

15.

16.

17.

EngisiyGUierat |
3 Ul £ 3R 20 Ay g ariills Al
(5RS) & 1 |

@  wsARRAA
@ ke

@) WS

@  adlodl

A2 AL sl Sayrt Randien Boel genl (M)
2RISR HR FALER ©- 7

MO -5y Rl |

@ el S kel

@ S5l (s1eRs) afwgrt &w-%t
@  Aa-AR Sy Baded

wigyegatioll (i gorsiardl e Foewll Bt

@ Ussiel nAR sl Mgl st Ml i O,

@) sl g AR S,
@ wisdnd Yol ndeL el A .
@ e Qvigad e au . -

2 AL 6 iy otel wfiaflcictl AR €14 87

@ el

@ el glisR (rsyer Brgl)

@ “RA-mn Ad

(@ cfﬂege[lom

srcallgs 2@tiadla 8 8

@ aeiwel

@ et gl 2 vidlsy 3Rl

@ el viefloy 81131 21 Beclls stollAs Adgler-
() el wieloy ), deas s1lRs disﬁg;‘wvt 24

i3l

WSS #ia: el ell A Sl G Riellel iR SN

) ﬂnwmqrfl ol ogdid (3ReR) 3R 8.

@  DNA 8 ahsif syell-mic e e oE 9.

@ SRR W-olstal 4 AMP A ulba 8
9.

@  Ssanddla Acud Gualot edlys 2t b,
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18,

19.

21.

+-In someplants, the fomale gamete develops into

Which of the following ecological pyramids is

{1y

@  Annelida, Mollusea angd Chordata

embryo without fertilization. Thig phenomenon
is known as :

®)  Autogamy
(2) Parthenocarpy
(®  Syngamy

49 Parthenqgenesis

generally inverted ?

(1)  Pyramid of numbers in :gragsla_nd
@  Pyramidofenergy

(3 Pyramid_\of hmmass 111 a fp_regt:: .

@  Pyramid of biomass in a sea

Drug called ‘Heroin’ is synthesized by :
(1)  methylation of morphine -

(2)  acetylation of morphine

(3_) glycosylation of morphine |
@ nitration of morphine |
Which of the following pair of organelles does not
contain DNA? . E AT

(1) Mitochondria and Lysosomes.

2  Chloroplast and Vacuoles

(8  Lysosomes and Vacuoles

4 Nuclear envelope and Mltochondna

Consider following features :

@ Organ system level of organisation

®  Bilateral @ﬁ@ R

(©  Truecoelomates with segmentation of body

rSeléét the. curi-eci;' _ﬁpﬁﬁﬁ of animal groups which
possess all the above characteristics.

Annelida, Arthropoda and Chordata.
@  Annelida, Arthropoda and Mollusca
B  Arthropoda, Mollusea and Chordata

19.

20.

21.

22,

PG

18" Jedls arrual, we YeYoreis B §ed WY PR

ARLAL (st Wl B, 21 ezl it s B -

O wagen
@  5Qac
@)  »iyoun

@ 2Riblyen
A2 240 0 wREARA BRI e 43 Gleg 0]
87

(D e e A A Ry
@  weu R

@ wolart daoren Raufils

(?i) UYL <ot Rriflg

"R A g vy 2 B g1 ARG oy
8

© 0l fuudze
@ gl Bl
@ W] carsiumdam

@ A e

2 Wl 2iPsrad-ll 56 as DNA Gl el 7
L) seuerisl 2 drplsny
@  sdRlwire 7 el
@  arrtohu 2 el
@ shgued 24 sguorpll

A2l cneiRuscrila) e o) -
@ 0 ke 2efloret

® Bk ey

©  vick uflz e wed) well el Rl
Guell erelley cusif@iscusil vatetcy €l Qe gl syl

ealletell el Rsey ez 531,

@ gl (Gyrs), e w0 36
@ il (is), ARwE 2 ygay
@ wldwe, ygsu w 3¢

@ gl (qyrs), ygr = Wi
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23,

95,

26.

227,

Qelect the correctly written scientific name of
Mango which was first '_t_ilescribed by

‘Caroclus Linnaeus :

1)  Mangiferaindica Car. Linn.
@ = MangiferaindicaLinn.:

@) Mangiferaindica

@) Mangiferalndica

What is the fate of the male gametes dﬁgcharge{i
in the synergid ?

(1)  Onefuseswith the egg, other(s) degenerate(s)
in the synergid, .

(2) All fuse with the egg.

(3) One fuses with the egg, other(s) fuse(s) with

gynergid nucleus.
(4)  Onefuses with the egg and other fuses with
central cell nuclel. -

Seleet the correct sequence of organs in the

alimentary canal of cockroach starting from

mouth :

(L Pharynx — O'es'o'phs:gﬁs — Crop —
: Gigzard — Tleum — Colon — Rectum

2 Pharynx — Oesoﬁhagjus —5 Gizzard —
'Crop — Ileum — Colon — Rectum

(3) Pharynx > Oesophagus — Gizzard —
Neum —> Crop — Colon — Rectum

(4) Pharynx —> OES_Op_IhagﬁIS--_ H-_->,__I_Ileun1 —>
Crop —> Gizzard — Colon —> Rectum

Which of the following 18 t_rﬁe for _Goldeﬁ rice ?

(1) TtisVitamin A enriched, with a gene from
daffodil. -

) It is pest resistant, with a gene from
Bacillus thuringiensts..” .

@) It is drought tolerant, developed using
Agrobacterium vector, . -

(499 It bas vellow grains, because of a gene

© introduced from a primitive variety of rice.
Respiratory Quotient (RQ) value of tripalmitinis:
(1 09

@ 0.7
3 0.07
(4 0.09

i

[Englishi+ Gujarati |

33 ¥l well A avig Asuls -t il wrie A3 o

siclu QRA 2l na agiad,
() Mangiferaindica Car. Linn.
() Mangiferaindica Linn.

(8) Mangifera indica

@)  Mongifera Indica

R oyeyal 3 @ wees Sl st et ul o ouell g

a8 7

Q) s wissr il frart WA & v e s d
asts Sl At WAL D,

@ Hmmts;?m ) _‘ﬁ:l&lrl }uﬁ i‘i |

@ s o5, A8 Rl ML B 21l ied USIAS
Sl Sinheg WAl fuad WL B:

@) W5 wishn WA Bt WA § 2 2 Gl
(brgat) 51N Begl A (e Wk 9.

cigtel i il sl 2 s 2idl-d sl el
53 satfadl [Rsey wit s

cy el o el o i WAGW el »

ot — Slelir — U

@ bl > Bzl - Al s wied ARSI
SIMIA - Sidirt —> MU

(3) feetil — @Al o Anell — W -
il UASILRL —> Slellrd — HARK

@ sl o izl - Qi - i HAGRIU —
Yol > Sleliet = HOUA

aerel §or (A0 2lvy) we AR WPl Wy ® ?

@ A RzeldA o S8, 3dld - Bis ordl
wd, -

@ A wandius § aun Qulas gl -1 s
sl 1A £l V.

@ A opsal deelle, walolsd i s AL GudbL

of) [Asalla uda .
@ A s dlu S 8; sty i 2l 2
Qe wiefl sy~{lell Aenadiel € B,

S ';\L&Bilm{léh- W2 Hatet 212005 (RQ) HeU 2 S

a 09
@ 07
@ 007
@ 0.09
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28.

29,

30.

31,

Which:of the following statements is correct ?

(1)

2)

(3)

4

Cornea is an external, transparent and
protective proteinacious covering of the

eye-ball.

Cornea consists of dense connective tissue
of elastin and can repair itself.

Caornea is convex, transparent layer which
is highly vascularised.

Cornea consists of dense matrix of collagen
and is the most sensitive pm‘tmn of the eye.

Which of the following statements is not correct ?

(1)

2)

3

@

Lysosomes have numerous hy'drc_:-lytit_:
enzymes. ‘

The hydrolytic enzymes of lysocsomes are
active under acidic pH.

Lysosomes are membrane bound structures.

Lysosomes are formed by the process of

"packagmg in the endoplasmic reticulum. |

Match the following genes of the Lac operon with
their respectlve products :

()
)

©

d)

igene @©  P-galactosidase
Z gene (i‘i) Permease
a gene (1) Repre_ssmr
y gene (j,;.r) Transacetylase

Select the correct option.

@
@
3)
4

@ b © @
@ @ @ v
i & @ @
) @ Gv) @)
@) v @ @&

Select the correct option.

1)

2)

3

@

Rt 9th and 10th pairs of ribs articulate
directly with the sternum:

11tk and 122 pairs of ribs are connected to

the sternum with the help of hyaline
cartilage. '

Each rib is a flat thin bone and ali the ribs
are connected dorsally to the thoracic
vertebrae and ventrally fo the sternum.

There are seven pairs of vertebrosternal,
three pairs of vertebrochondral and two pairs
of vertebral ribs.

28,

29,

30.

31.

()

@)

3

P6

el sl 2 [Ben e S 7

wraels wea B o, Wrgels A 2e1ucils Wl
ol A{ie] BU20L B

wRERls vee SelfRert Al ete uad Adlorsiizl)
91el 8 2 Wil sdd e'lfta ud 2w B

wizgels vz wRolln, ursels w2 © 3 e} vggtsf
SUASIETRHEIRIVE:

WRELEs W2l Sidereld, vidd Bg 2UERS Qe §

21 & wiiviel Alell e B3 ool S,

12} T8l 8 (et 2y el 9

@
@

(3)

@

appla H g v aRcud Gas! i B,
arpllslal senRond Geludil ARKS pH
R € B

ARRAAR 2R Bl 22 D,

cRilolr], (gL, ict:sraisonl Wego B

IR

PR O ERTIR DETIE B | w[&q ey w1l

@

(®)

{e)
@

i o¢efl-t O BRI
2 6¢<ilel @ Wl
a sl Gi) Wk
¥ ol @) gruRegan

URA [QAsew g 53t

@ (b «© @@

o O @ @ W

@ @ @O @

@ @ @ @ @

4@ @) Gv @ G

Al [Qsey wrie sal.

@ il 8, 0l v 10 Al sds {18 el
Gl w8 ek\sﬂﬁ'l 8. o

@) umu{lmﬁvﬂ_ 114l Qsy 12l o s sURH-AL
yegl GARY WA shsidiel 5.

@ s vimell 1 A wae 1R D AR Giedley
wiRtotall yos g Gl s2iRsid W ey g
25 GRRM WS sdsiid] 8,

@ i ods dlelveda, el s alelisiegd A
ol szl dlom wudd] 8.
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32.

33.

34.

36.

Which one of the following is not a method of
in sttu conservation of biodiversity ?

(1)  Biosphere Reserve

2  Wildlife Sanctuary

(3) Botanical Garden

{490 Sacred Grove :

Select the incorrect statement.

(1)  Male fruit fly is heterogametic.. -

(@ Inmale grasshoppers; 50% of sperms have
no sex-chromosome. ”

(3 In domesticated fowls, sex of progeny
depends on the type of sperm rather than
egg. o

(4 Human males have one of their

sex-chromosome much shorter than the
other.,

Which of the foilowing features of genetic code does
allow bacteria to produce human insulin by

recombinant DNA technology 7

(1)  Geneticcode is not ambiguous
@)  Genetic code is redundant

(8) Geneticcode is nearly universal
.(:4) Genetic code is specific

What would be the heart rate of a person if the
cardiac output is 5 L, blood volume in the ventricles
at the end of diastole ig 100 ml, and at the end of

ventricular systole is 50 mL ?

(1)  50beats per minute

@  75beats per minute

(3) 100 beats per minute

(@  125beats per minute

Match the following organisms with their

respective characteristics :

@ Pila @ Flamecells

(o) Bombyx (@) Comb plates

(©  Pleurobrachia (i) Radula

d Taenia @iv) Malpighian

tubules -

Select the correct option from the following :
@ b ©

n @ @ @ @

@ @ @ @ O

@ @ @ W @

@ @ W @ @

8

32.

33.

34.

35.

36.

| English+Gitjarati |

12 U4 56 weald oret [RUdiAL 2e-220- dR56L Wi+l

yealq wiell 7

Q) REAd SRl (ke dad)

@) - DR (atges Qs A~

3) -l Gar

@ dda @Al

i, (R wig 2.

@ R sorrll [egys (S2201s) 8.

@ R R, 50% Yssll [Bl-Porp i
2L,

@  weg welela, daldl sad 2uaR 2isiy
(Bg) srcll Ys&N ALUSR R Well B,

@ Rl A 98 g Rl iy oflea sl &g

SR8, |

orefl R3et] A3 Vsl &y ast A2t yrridlyd
DNA 2516109 gR1 3t §eayyellet of il 5218 6 9

@ orellnt Wi 2rifE QU 8.

@ orellraiha cuel Sl B,

@ orllt 23 et wedBs i d.
@ el Asgu (RARBS) du B,

ok silfus 20822 5 L Qi fusal drit RiRar »id
3021 ovetll 100 mL S i fus A 2id
50 mL SR ofl, clsai-l &€ &R (UotsRRIHL &R) 4 &2l 7

@ AR AR 50 sesr
@ d B2 75 ausri
@ ud A2 100 desrRi ;

@ ki B2 125 gesrl
{21 30l dx-l 2eilfa aisdisd el «A8)

@  wa @  sllasil
b))  clloisy G)  Ssd asellal
© wgudbu (iii) ?e[i_st
@ LAk (v) WU Qs
AR [Blsew y2ig 2L
@ () © @
H @ @ @ @
@ @ & O @
@ @ v G ©
4 @ @ @ @
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37..

38.

39,

40,

41,

Variations caused by mutation, as proposed by

" Hugo de Vries, are :

(1) random and directional
(2) random and divectionless
(3  small and directional

(4)  small and directionless

Tidal Volume and Expiratory Reserve Volume ¢f-

an athlete is 500 mL and 1000 mL respectively.
What will be his Expiratory Capacity if the
Residual Volume is 1200 mL ?

1) 1500 mL
@  1700mL
@  2200mL
4 2’? 00mL

Following statements describe the characteristics

of the enzyme Restriction Endonuclease. Identify
the incorrect statement.

(1)  The enzyme cuts DNA molecule at identified
position within the DNA.

(2}  The enzyme binds DNA at specific sites and
cuts only one of the two strands.

3 The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.

4} The enzyme recognizes a .specific
' palindromic nucleotide sequence in the DNA.

What triggers activation of protoxin to active Bt
toxin of Bacillus thuringiensis in boll worm. ?

(1)  Bodytemperature

2  Moist surface of midgut
®  Alkaline pH of gut

@  Acidic pH of stomach

Identify the cells whose secretion protects the lining
of gastro-intestinal tract fram various enzymes.

(1) Chief Cells

2)  Goblet Cells

B  Oxyntic Cells
(4)  Duodenal Cells

37

38,

39.

40.

41,

P6
&l § Bt gt 2y 528 3 Aliac 3 BglL A szl
O dal s
D) ey e B
@  wideurd »ie BulQRnA
@ Al 2 BaRa
@ Al 2 Eaau['fl@-i

s ek (vladz) o 2ifsa dieyqu 214 Rsnwdied]
Alequ 21450 500 mL 211 1000 mL 8. A YRy

ey 1200 mL €4 o, a-l AsewudRed 30l deell
@ 1500mL

{2). 1700 m1L,
4 2700 mlL

D2 R Redlsetrt e B Gederd clstellscy

gl 8. wig Qe 2,

(1)  DNA -l igz st 2 slondl 2 Gedlais
DNA. 2@l s 33 8,

@ U Gcdlas DNA A st 2 old § v Wi
oA sl 816 s mal R s P D,

@ G R s PR W

éﬂs&a w_t-l 50 8,

4 DNA w44 ﬂcﬂ-ﬁ;ﬁﬂg ~[saoiizigs el A
11 Gealus 2l 4 8.

cAaerll 2uda dedere gila-welly Wi DG DY @
Wil it 652 Geddla s34 A B Bt Asallei
g3l U3 7

O WR A Ao

@  Heuiadl ol wwdl
@) il 2ues084 pH
@ sl 2WdRs pH

240 ST AL S el 2, Wt 1ol izl Ry
Geaimisid] 2rizell 1] 8.

L) M- s

@  olledz sl

@  20E-ds s
@  uscuRHAL SN

T

collegedunia:s

India’s largest Student Review Platform



Pé
42,

Pinus seed cannot germinate and establish
without fungal association. Thisis because :

(1) its embryoisimmature.
(2) ithasobligate association with mycorrhizae.
(3) it has very hard seed coat.

(4) its seeds contain inhibitors that prevent
germination.

Which part of the brain is responsible for
thermoregulation ?

(1) Cerebrum

() Hypothalamus

(80 Corpus callosum
(4)  Medulla oblongata

In a species, the weight of newborn ranges from
2 to 5 kg. 97% of the newborn with an average
weight between 3 to 3.3 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 kg
or 4.5 to 5 kg die. Which type of selection process
is taking place ?

(1)  Directional Selection
(2)  Stabilizing Selection
(3  Disruptive Selection
(9  Cyclical Selection

Use of an artificial kidney during hemodialysis
may result in :

() Nitrogenous waste build-up in the body
() Non-elimination of excess potassium ions

(&0 Reduced absorption of calcium ions from
gastro-intestinal tract

(dd Reduced RBC production

Which of the following options is the most
appropriate ? :

(1) (a)and (b) are correct
(2  (b)and {(c) are-correct
(3) (c) and (d) are correct

(4) (a) and (d) are correct

42,

44,

45,

| English+Gujarati |

el ofley, $red (g91) cg@il el Aol VUL PR
wigflct 46 st el 209 ot B sRQLS

O -l ool 25 ¢u 8.
@ arll sessto 8L AR5 Hola gl B,
3  qr ellsasRil w5881 S B,

@ At oflod, 2R 41 B 3 & vigea 2260
N g i

Graell [Rapirt A2 Aoyl £l UL sYSlIAER B ]

M) - osE Whws

@ e
Q)  eluM s

4)  depisn

s oAl Attt ot 2 ¥l 5 kg A u B
97% wcsct Ul u3 3 ol 3.3 kg Aseel GR1AL
ctotcl el sa © s 99% Segeen 2 0l 25 kg 3
4.5 ol 5 kg cornl BRI o=l 8 Rl Yo WL 8. ol
2l 241 W51l wrigoli-ll b & 7

@  sifsua Rdsin

@  wladibL Rdsi

@  Sala Rdsun

@ wdsdlls (b)) Rasus

Sl ru@afia graainl s ARG iRty 2 WRend
W

@ AR ABZlert Yl AYfgirl erauz.

b sl IR 2l Pt udl <l

©  wae el HErng i 2@ sl
@ RBC i Balowmi w2l

ARiAruiefl sl Qsey el A S ?

M (a) A (b) e D

@  (b) ¥ () WA B.

@ (o) @i (@) W 8.

@ ()2 (d) w8,
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46.

47,

48,

49,

@ @ 0 © @

Placentation, in which ovules develop on the inner 46,

wall of the ovary orin peripheral part, is
(1) Basal

@ Axile

(3)  Parietal

4}  Freecentral

Consider the following stﬁtQﬁe nts :

(A)  Coenzyme or metalion thatis tightly bound g7

to enzyme protein is called prosthetic group.
(]3) A complete catalytic active enzyme' with’ 11:3
bound prosthetic group is called apoenzyme,
Select the correct option.
(1) Both (A) and (B) are true.
@  (A)istrue but (B) is false,
(3)  Both (A) and (B) are false.
@ (A)isfalse but (B) is true.

Match the Column - I with Column - 11 ;

Column -1 Column -1I1
@ -P-wave ) Depolarisation of
ventricles 48.
(b)) QRScomplex (i)  Repolarisation of
ventricles
(@ T - wave Gii) Coronary
ischemia
@  Reductioninthe (iv) Depolarisation of
size of T - wave atria
)  Repolarisation of
atria

Select the correct option.
@ 0 @© @

W ™ O @ G

@ ™ O @ (@

@ @ @ & G

Which of the following protocels did aim for 49,

reducing emission of chlorofluorocarbons into the
atmosphere ? :

(1)  Montreal Protocol

2  Kyoto Protocol

(3)  Gothenburg Protocol
4}  Geneva Protocol

Pé
ell oo, 3 i 2issl ) oflaprd] i
[eoue 221 wltaadl ouot we ofl Geod AN 20 52 & -

(L) duy

2 sy

3  Wwiadl

@ Yt degry
AL Qe e ag -

(A)  Gradl 3021 W vyt A adsidlel wigGedlad)
% g 2l WRARs g s D,

® gl Radls ubu Glus win Al wd sl
MRAls sgur Ao (eedius) 52 B,

Wl [Qsey wrie 59

D (A) 2 (B) ol WU S,
@A) Wl 8 g B) W B,
3  (A) ¥ (B) w1 vilal S,

@ Q) S wg B) wy 8.

Sl =T A Sles -1 2018 oy 31 e -

st -1 sl -1
@ P-cid @ sl Rysdlsea
b QRS disa i) &usld yrgelsag
© T-d (i) SR SR By
@ T-adeussil v seléid Ryellsel
219l

@ sulsld yrydse
A2zl 2wl Risery wig 531
@& m) © W

O ™ 0 @ @

@ W 0 @
@ @ O @ G
@ @ @) v

{12 W) &l WA () ey SRISGR\S oA
2l Bzigal W Al sl & 9

® D Wda

@ el sy

@ l8eor] A8

@ w2

T
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52,

53.

bd4.

@

Polyblend, a fine powder of recycled modified

.. _plastic, has proved to be a good material for :

12

50.

[Engiish+Gujarati |

Qellodrs, 3 & feudsa uzala varels widl nesa
e WG B A s wirL weel adlh e ©

(1) making plastic sacks M dls AL ol

@) use asa fertilizer " @  vilar adl auRiel

.(IS) construction of roads 3) il [Aalel w2

@  making tubes and pipes @) eued A WY ot M

Which of the following can be used as a biocontrol
agent in the treatment of plant disease ? '

5L

dep ) Aol uRaR w2 A W g VAR
(olRlise2ld) Bsy-2 s AR B 7

Q)  Trichoderma 1) asisHl
2y Chlorella (2) gg}?gg

@) Anabaeng @ Hul
@  Lactobacillus @  dstleledl

“Which of the following sexually transmitted

diseases is not completely curable ?

52.

3 WAL 2 oacdd sl Ao S 3 -l Aygiugl
Gy U8 sl Al ?

(1)  Gonorrhoea 1 oAk
Genital warts @) seeirAiplla Wil

(3  Genital herpes @ ool el

()  Chlamydiasis @ - sl

Thiobacillus is a group of bacteria helpful in
carrying out :

53.

oflilelfez ) ARu AL Wy S & i B sl
HEE FU A B

(1) Nitrogen fixation M) g AR

@  Chemoautotrophicfixation @ PRI @l |
()  Nitrification @ elglun

(4)  Denitrification @  Jeusdlibun

Colostrum, the yellowish fluid, secreted by mother
during the initial days of lactation is very egsential
to impart immuriity to the newborn infants because
it contains :

54.

gotRALetrL 23l fEoRil I LRl Bist SR 2
dloust us uendl - slelagy, dead fegrzud
AopRisRsaL Ancial HE vetsy w:] 8. 519U S d il
4L 9

(1) Naturalkiller cells @ bls (gerdl) rs shil
@  Monocytes @  dAkRus

(3) Macrophages @ s

(4) Immunoglobulin A @  SyAbdleyfad A
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99,

56,

57.

o&.

13
“The Earth Summit held in Rio de Janeiroin 1992 | 53,
‘was called :
- (1) to reduce CO, emissions and global ;
warming.
(2) for conservation of biodiversity and
sustainable utilization of its benefits.
(8) to assess threat posed to hative species by
invasive weed species.
@  for immediate steps to discontinue use of 3
CFCs that were damaging the ozone layer.
Match Column - I with Column - I1.
: 56.
Column -1 Column-H
(@) Saprophyte ()  Symbiotic association of
fungi with plant roots
(b) Parasite )  Decomposition of dead
organic materials
{¢) Lichens (i) Living on living plants
or animals
(d) Mycorrhiza (v) Symbiotic association of
algae and fungi
Choose the correct answer from the uption_s given
below :
@ () @
nm O @ @ w)
@ @ @ O @
@ @ @ @ v
@ @@ @ G @
Purines found both in DNA and RNA are - 57,
(1)  Adenine and thymine
(2)  Adenine and guanine
()  Guanine and cytosine
4)  Cytosine and thymine
What is the direction of moveiment of sugars in | g
phloem ?
(1}  Non-multidirectional -
2 Upward
(3) Downward
(4)  Bi-directional

i of
RS
Rll=§l-ateRL vid 1992 i HAd “yeol] WAG 2L
W2 olleleHd |
@) €O, Gerisdt i dals Rl uewsy,

@ crsrerilZld 4R 2in del R Gl d
el Hie s34l

@ 2 wuadl Figerd wdl o a-4r s sua
5129 % o A5 sl W2 R K B,

@  csi@s »rrdll CFC - Gl viy 5Ly opell
Guailat ] vilodlet iR A e UL B,

Sie=T 24l San=11 A 0ol o) :
-1 Sem-11 -

@ el 6 eyl YA oL el
eeel] voia

O Wyl @) Yo sielRs el Rt

© s (i) el el 2R el
Y2 oed AU

@ yosasn v dle 2 goL Al ugwdl
(wusRSA]) Aol

At wiel] 2oy Psen wrig s30.

@ b © @
®» ® @ @ @
@ @ @ O
@ @ O @ @
@ @ G & o

DNA 2int RNA o1l o Wid sdetl %l 8 ¢ 21 8 :
@ el 2 el

@ B3l 2 eyl

@ oclrlle vl ueRA

@  edrlie 9wl

igteltgs Ul Wbl gl w58 € 6 7
1) ogkudla (Non-multidirectional)

@  Gbipll
@) o
@ -Gl
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59,

60.

61.

62.

63.

The correct sequence of phases of cell cycle is .

1 M—->G >G-S

14

59,

[ English+Gujarat]

S - RRE sl el sl =il yorey

-,

o M

@ GG, =SoM & WLyl ¥

2 G, > G S—= M
@ S-5G 50,-M & GGy

® 8—-G;->G->M

@ G,-8-06G,-M
SDeeﬁz:sthe hanioncreleanie Inmaslitenng 60.  iclaerdl Ad Sell AL MlaA wrig &30,
()  Vaults, LNG-20 @ Bz, LNG-20
(2)  Multiload 375, Progestasert @  wedldls 375, slvreri
(8  Progestasert, LNG-20 (®  Msrewé, LNG-20
(49  Lippes Loop, Multiload 375 @ @ﬁ% gy, ueclals 375
A'gene locus has two alleles A, a. If the frequency | % "f"_ﬂ"l i o dsleus W’ﬂfﬁ Aa Sfl‘{ﬁl‘ @‘ “9. nelle]
of dominant allele A is 0.4, then what will be the “ld A Al 2 0.4 i dl sl wouell, vyl
frequency of homozygous n.:lﬂmi_nal}tt hetam?ygous aq_w ﬂﬂﬂ“{l YREs i) el eridl Q,u%[‘a Yedl
and homozygous recessive individuals in the 9 :
population ? SR L
(1) 0.36 (AR); 0,48 (Aa); 0.16 (aa) i it

@ 0.16 (AA); 0.24 (Aa); 0.36 (aa)
2)  0.16 (AA): 0.24 (Aa); 0.36 (aa) |

(3)  0.16 (AA); 0.48 (Aa); 0.36 (aa)
3)  0.16 (AA); 0.48 (Aa); 0.36
®) (A141); 0.48 (A2); 0.36 (a2) @)  0.16 (AA); 0.36 (Aa); 0.48 (ag)
@  0.16 (AA); 0.36 (Aa); 0.48 (aa)

62, dclblellRfi b ui nerw 2Rl By @ sgsios

Conversion of glucose to glucose-6-phosphate, the
first irreversible reaction of glycolysis, is catalyzed

by :

7, %9513-6-51252 Ui WRadH s & d 2 gkl Gellun
ung:

(1)  Aldolase 1) 2uesidss

(2> Hexokinase @) L5Alsn

(8) Enolase (3} Sellcios

(4  Phosphofructckinase 4) él%ﬁﬁéaals et

The shorter and longer arms of a submetacentric
chromosome are referredtoas:

63.

HeHZR-gs PRJA] &8l oon 4 aliell oqatallal 21
Rlel Gedw sral 209 & :

(1)  s-arm and l-arm respectively (D) sl s-0jen it 1-opon
@  p-arm and g-arm respectively @ 2gssl P'E.‘!\m i} g-Glod
(3)  g-arm and p-arm respectively @) wsd q;C‘i.\M _‘”l'q-_ P.'(‘ifﬂ
40 m-arm and n-arm respectively (4 %*L:l;isﬁ m-G{ed e n-&sd
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64.

65.

67,

68.

Which of the following is the most important cause
for animals and plants being driven to
extinction ?

(1)  Habitat loss and fragmentation
(2)  Drought and floods
3)  Economicexploitation

(4)  Alien species invasion

DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with :

(1) Isopropanol

(20 Chilled ethanol

(8) Methanol at room temperature
(4)  Chilled chloroform

In Antirrhinum (Snapdragon), a red flower was
crossed with a white flower and in F; generation,
pink flowers were obtained. When pmk flowers
were selfed, the F, generation showed white, red
and pink flowers, Chmse the incorrect statement
from the following :

(1)  Thisexperiment does not follow the Principle
of Dominance. -

(2)  Pink colour in F; is due to incomplete
dominance.

2 ] ;
®  Ratioof F,is = 7 ®ed): - (Pink): = 4 White)

@ Law of Segregation does not apply in thjs

experiment.

The concept of “Omnis cellula-e cellula”regarding

«cell division was first proposed by :

(1)  Rudolf Virchow

(2  Theodore Schwann
(3) Schleiden

(4)  Aristotle

Expressed Sequence Tags (ESTs) refers to :
()  Genes expressed as RNA

(@  Polypeptide expression

3) DNApolymorphism

4  Novel DNA sequences

15

66.

67.

68,

P6
{121 Ul 8 arizald 217 gll- gt vl arg flerr
2LcuHL SR 213 & 7
(D) (Aot e Al AL e Al-izssRln Doter-
@ s A R
@ uls (g (2w
@ gl olQeded udl wuag
seL QAL Biagiiisll DNA A 2te8iueL 34 24 218
UL s Ay § '
(1)  udeliit-id
@  2ildzla fa-da
(3) U A HlEda
@  idslia sdRign

ety (RAUPRUA) AL @l Yllao i Wl Wde
YRl SIS f R Rl T W ool Yol wd 8,
o2 dptoll Yulion F o reigael ad R Fy 2 9
i wde, Al 2 oeell Yol 1A 8. A A W
G wale &1L

(D) 2304000 Moyt (A A Bieiredl Hll,

@  Fy uioaied Y wd o 2080 ueulBad sl
8.

] ~ o~ 1 - 2
@  Fyalewuguasd 3 (d) ; i (oettedl) -

1
, (age)
@ e Eeavendl o ary wsdl el

SRy~ U2 ** uaerfos- eyett-2A-Aeyal” g WU
AR AL gRL 20 YAl

@O 3% (el
@  dRUSR s
(3 W8

@ »ikeled

afMensa (uERla) fell (Yuia) o ESTe) =
Holltia 8§

(1) orellit RNA ofl3 2fGreasa i 8

@  Ndlirews witeusa

3) DNA oigguscl (Wellglun)

@  ~ildqad DNA we (319l)
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69.

70.

71.

72.

73.

16

| English+Gujarati |

Match the following hormones with the vespective | g9,  «llSitt 3ict Il Aot icileact ol W Ao A A :
dlsease s , e s @ S=yldq O aRu R
(&  Insulin @) Addison’s disease ’ G " ey
®) Thyroxin ) Disbetesinsipidus’ () liedllsds @ SPUCReMsH
{¢0  Corticoids (iii) Acromegaly | © s @) laionell
@ GrowthHormone (v) Goitre @  ghg i (v)  older
&)  Diabetes mellitus’ &) sl Adlen
Select the correct option. el [Asey s 52l
@ (b «© .@d) @& M ©@ @
O & @ @G G O » @ @ @@
@ @ & @ O * @ @ @ @ O
@ ® @ (i) (i) @ & Gvw @ G
G owEs W ‘? @ @ G @ G
@ @ G @ 3G
i i 70. il eAloyeiRlel 2izauss (R 2l vou g1 O
Phi 1 . ' 2
S @ ueopum S8 243 e S
(1) Albuminous cells and sieve cells el [_%
@)  Sievetubesonly = | @  ueRudHAl s
3  Companion cells only @ uA %LLQQ 5Nl |
(4)  Both sieve tubes and companion cells @ el Alas el el sy el
From evaohutionary point of view, retention of the 7. Gglsriu =lesial 3‘9“@ R 0{1?15'&“"15 Gwr, Mz
female gametophyte with developing young embryo seeeyets, [ MHcL op9L B oddll WAL o HAASAR
on the parent sporophyte for some time, is first 23] slelt "i“";i,'i
.observedin:
(1) Liverworts M ey
@  Mosses @ A
(3)  Pteridophytes @ Bl
(4) Gymnosperms @ wieiga oyl
_ o + 72 yeumdldl afu $4 Qs Geusi cidion wugnd
Which poe alibhe follawing emmipmrents 1a eBls Geutge Nenaten w2 (18] isf) £ uian Gudorl
essentially required for growing microbes on a . 5
large scale, for industrial production of enzymes ? QU 8 7
(1)  BOD incubator () BOD érgyoie
20  Sludge digester @) W SRR
(3) Industrial oven 3) %f;ﬁil’-tﬂ Bl
(4)  Bioreactor @ endRliser
Grass leaves curl inwards during very dry | 73 ayfQ gyes geliatirti sttt WGl »ig2-ll cizg ictelet wid
weather. Select the most appropriate reason from o R ;
the following : B, BUrl W2 orolEIR ofHeiug A SRYL WS 3.
{)  Closure of stomata _ (1) ‘{lfiégﬁi Aty : |
(2 Flaccidity of bulliform cells @ dsyals siaiel ARt (islan) |
(®  Shrinkage of air spaces in spongy mesophyll @  RReas weuuel Wil duciasiig sl
4  Tyloses in vessels @ el 2ciail
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74.  Which of the following statements is incorrect ? mq.

75,

76.

7.

78.

{I)  Viroids lack a protein coat.

(2}  Viruses are obligate parasites.

3  Infective constituent in virusesis the protein.

coat.

(4. Prions consist of abnormally folded proteins..

Which of the following statements is incorrect 7'

(1)  Morels and truffles are edible delicacies,

@  Claviceps is a source of many alkaloids and:

LSD.

3) Conidia are produced exogenously and
ascospores endogenously.

(4)  Yeasts have filamentous bodies with long:
thread-like hyphae,

Select the correct group of biocontrol agents,

(1) Bactllus thuringiensis, Tobacco mosaic
virus, Aphids

@  Trichoderma, Baculouirus,
Bacillus thuringiensis

(®  Oscillatoria, Rhizobium, Trichoderma

@  Nostoc, Azospirillium,
Nucleopolyhedrovirus

Which of the following pairs of gases is mainly’
responsible for green house effect ?

(1} Ozone and Ammonia

()  Oxygen and Nitrogen

3)  Nitrogen and Sulphur dioxide
(4  Carbon dioxide and Methane

What is the genetic disorder in which an individual

has an overall masculine development,

- gynaecomastia, and is sterile ?

(1)  Turner’s syndrome
@  Klinefelter's syndrome
@ Edward syndrome

4  Down’s syndrome

5.

76.

77.

78.

P6
Al Usl 3 (et izf ofl 9

(D) ALY W2l $o421, YR1ei Ao,

@ udR 2 wRAsed] wWived] 8,

(@) cuskRuig A 2R B AHY SRR U B,

@ ety 2 bR A gaiflay 0wl
y

A2l Ut & et g 3l 7
(1) AR i et =) eubne wia 8.

@ Sl B agu Puesdsy 2 LSD -l
8.

@ sulloflongeal alRefet A 2 rdlofloagi
aejd Ad Goun a8,

@ ke A s dgua Wi @l w2l S, wd A
alieat cleua g cuell g S.

Stas ﬁﬁqt@t SRl e WA (s12s) wais 53U
Q) ARlaet ge-ed-aller, 20N Ads iy, A
@ quelslsu] ddsyeioughy, ARt -l
@ AR ublorm, agRsul

@  -tecls, dbsleudldley, yBaeR ez

2l Ul cuyilel] 56 ads MG 2R W svenetsz
8 7

@ 2l 2 Bl

@ >liseflerd 2 loret
@ lsgleret i 252 SRR
@ S0 SRASAIBS 24 WA

2 58 oell-lls Qg B, ¥ i culal v Qs
SR i e Gsiell shen WA 9

O ek R-gn
@  sad-eer R

@ sal R

@ G- R

sh

T
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81.

Due to increasing air-borne allergens and
pollutants, many people in urban areas are

suffering from respiratory disorder cauging
‘wheezing due to: ' '

(1) benig_ﬁ growth on mucous lining of nasal

cavity.

@  inflammation of bronchi and bronchioles.

(3} proliferation of ﬁbrb_ﬁétiséﬁe $and ciéinage

of the alveolaxr walls.
@ reduction in the secretion of surfactants by
pneumocytes.

Match the following organisms with the pfdducté
they produce :

(a) Lactobactllus @+  Cheese

(b) Saccﬁlaqm myces ) Curd
cerevisice

(c)  Aspergillus niger (i) Citric Acid

)  Acetobacter aceti (iv) Bread

(v)  Acetic Acid
Select the correct option.
@ b @© @
@ @ v © @
@ @ v @ O
@ @ G ® O
@ @ O @

Match the following structures with their

- respective location in organs:

@  Cryptsof Licherkithn (@)  Pancreas
' .":'(b) Glisson’s Capsule (ii) Duodenum
(¢)  Isletsof Langerhans (iii) sma]l_
mtestine
() Brunner’s Glands {iv) Liver

Seleét the correct option from the following :
@ B © @

® @ 0 @ @

@ @ G O @)

@) G vy 6 @®

@ @) @ O

79,

31.

[ English+Gujarati |

cARp etsfeu sy MEMSTL Rl 2Rl AL (SRR

el culial tunds ol wbrlladizie] i
ool MrlRoa enuq REiE Qdl vdly 2 8.

24 241 SREL B :

@ AR Siead 2 AsRaz W alds AR dll 9fs.

@ arenR-la dasy a el Rt £l ().

@ e Wipdd ol aud 303 adedd e
52U,
@  ~plRuSe gR1usserRAl el a2l

A3 Howela dadl gt Bl 3sse il Ao e sdst

@  asldau @ Al
b A3l qidll G &
©  Aeusfay didore i) ks AR
) eleleiser el v) 9
) SRks AR

a0l Qs s $3L

@ ®» © @
O @ @ ©» G
@ @ @ @ ©
® @ @ ® o
@ @ O @ ®

A3l 22 0L AL deield 2 W a9l

@  [Qergred wial @  reuglls
© Gl drya @) useR
©  AroReiru-l sy i) -0 2aiaRg
@ gl @) U

Jeiriedl il [Qsev wie s
@ ((m @© @

o @ O @ @

@ @ o O W
@ @@ v O @
@ @ @ O

T
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82. "

84,

85.

86,

(1) A unit of distance between two expressed

' genes, representing 10% cross over.

(2) A unit of distance between two expressed
genes, representing 100% Cross over.

(3) A unit of distance between genes on
chromosomes, representing 1% cross over.

(4) A unit of distance between genes on
chromosomes, representing 50% cross over.

Concanavalin Ais:

(1)  analkaloid

(2_) an essential oil

(3) alectin
(4) apigment
Cells in Gy phase :
(1) exitthecellcycle. .

(2) enter the cell cycle

(3) suspend the cell cycle

(4)  terminate the cell cycle

Select the correct sequence for transport of sperm
cells in male reproductive system.

@

Testis — Epididymis — Vasa efferentia
—> Rete testis—Inguinal canal — Urethra

Seminiferous tubules — Rete testis
— Vasa efferentia — Epididymis
— Vas deferens — Ejaculatory duct
— Urethra — Urethral meatus

@

Seminiferous tubules — Vasa efferentia
— Epididymis — Inguinal canal
- Urethra '

@)

Testis — Epididymis — Vasa efferentia
— Vas deferens — Ejaculatory duct
— Inguinal canal — Urethra
— Urethral meatus |

@

Which of the following statements regarding
mitéchondria is incorrect ?

(1)  Outer membrane is perméable to monomers
of carbohydrates, fats and proteins.

(2)  Enzymes of electron transport are embedded
in outer membrane.

B3) Inner membrane is convoluted with
infoldings.

(4 Mitochondrial matrix contains single

circular DNA molecule and ribogomes.

'19
- What map unit (Centimorgan) is-adopted in the:
construction of genetic maps ?

‘RD,

.83.

'85.

; ~(3J ;

P6
spellel wL52UAL 2L $3038 12 £ 25U (:Q[rél i) widllyct
ﬂma?" -

) Q NgRla (2AlR1esa) st 38 10% culszl
.:I,__}{_[?_l[:l@ﬁ{; 53 ol 2UEH ViR,

@ A eRla el @ 100% culdsg 4 WEARRc
A3 2y 2R,
B oyellell o W 1« o 1% sl -j,:u[?tﬁ&cq
2 A B v,

@) ¥, opelll 528 PR R 2ieR 3 @ 50% culdlsel
A, 3l 2.

Sleidrudell A 21 8

W suesdds

Q). »las dd

@ Qb

@ Pl

Gip oLl §1NL

(D sl ogR 26 8

(2)  sINRsH Mee) S

@ s wesid O

(1) NS A R B

12 Herviriclul sl Agetdl il 3ol waig 53l

@  usbis - =By - @Hlf@&i - 2 yslls
— Hollad Sl — el .

@  yslowes dlasil — 2 yshls - gsql@sl -
Qﬂ[ﬁ%’%‘l 5 sl — 2wiad AR5 -
el — ruc len .

@  yscuss ARsel — gw@sl. - %[%}LQL -
Foclldd Feidd - el

@ yslls - wfgue— @anu[%m - g;scu[@—ﬁmﬂ

= e ARSL > Foellr 3 — 11,\:4.%1'-1{
— Y334 Hlen

sQuorizrL digell {2 U8l &4 Bar wej )7

(D cnerzd siilledl, 2ol 2 WAL HAH
W2 ueella S.

@ o) wesd gl Asndal (a“cﬂe.u.a‘l OB, Y2HL
vl U S,

@  =iacdern df 2idued dpiuEr G 9

@  seuorplld 2aRs sy sl DNA 18, dusy

el und 8.
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P6
87.

38.

89.

91.

92.

Persistent nucellus in the seed is known as :

(1) Chalaza
(2) Perisperm
3 Hilum

(4  Tegmen

Identify the correct pair representing the
causative agent of typhoid fever and the
confirmatory test for typhoid.

(1)  Plasmodium vivax/ UTI test

(@)  Streptococcus pneumoniae ! Widal test
(@  Salmonella typhi/ Anthrone test
(4).  Salmonella typhi/ Widal test

Match the hominids with their correct brain
glze

(®  Homo habilis @  900cc

()  Homoneanderthalensis (i) 1350cc

(©® Homo erectus : (i) 650-800cc
d) Homosapiens . (v} 1400cc
Select the correct option.

@ M ©@ @
®» @ O & @
@ @ @ O o)
® @ ™ O @
@ G @ O @
What is the site of .perceﬁ_ﬂon of photoperiod
necessary for induction of flowering in plants ?
(1) Lateralbuds

(2) Pulvinus
(3) Shootapex
{4 Leaves

Which is the correct thermal stability order for
H,E (E=0, 8, Se, Te and Po) ?

(1)  HyS <H,0 < HySe < H,Te < HyPo
@ H,0<H,yS < H;ySe < H,Te < HyPo
@ H,Po<H,Te < HySe < H,S < H,0
@)  H,Se <H,Te < HyPo < Hy0.< H,S

The compound that is most difficult to protonate
15 :
" 0\
1 H ~H
e
@ He 0 H
2 IS

0
@ Ph—"  NH

-87.

88.

89.

91,

92.

[ English+Gujarati |
ofloyal 520 qelRs A 2 s B ¢
1) isad
@  ussA (URlauH)
@  cllvdeg

@  iceollerel (éa Lilvt)

28488 et WL W25l %t@)ﬂl. mt-'i el m{@m 53R

S el ods wzig s

O sl s UTI 3%0.&‘1
@  wlslsy 'gaﬂd?f Rsid aﬂa’l
@ el etusl St a%itél
@ enla el R 3-1&3‘1

SRl A daell w loy<ii 2121 5% 28l dloy Al sl :

@ dddbau 6. 900ce

b sl Aluesedd-ula Gi) 1350cc

© sl dsen (i) 650-800¢cc
@ bl e (v) 1400 ¢cc
R (clsey wrig 53 :

@ ® © @
® @ O @ o
@ @ @ 0
@ @ ™ O @
@ @ @ 0O @

* ssieyumells W2 & S d usigl e 8 arrliu

sdcll %A B ¥ o aqyldal g‘hﬂgmq '-{ié Rl €1 57
@ wdkiss

@  sAd uelaa

@) RSB

@ - uel

H.E (E=0, 8, Se, Te 2 Po) 42 el Gwlly

FAcl-) 54 AR 2ol AL

(1) HS*:HO{HSE{HT&{HPO
(2) HZO < HES < HESE <H Te < H2Po
& HyPo<H,Te<H, SE:":H 25 <H,0
@ HySe<H,Te< HEP&':-": HEO < H' S

31 2 deusiell £ 2o el g%({leﬂ N e $9
o 5"y

@ PiBC/' ~n
-. O~
@) H_ac/ \CH_B

@ Ph NH
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[English¥Gujarati | 921 ‘P86
98.  Among the following, the narrow spectrum | g3, {2 audamiell 85 Sis wissl () ) aeuz o]
ARMGIOHG 0: wRsoell=il & @ Al
) penicllinG O WRd-G
i et ® S0RA
(3) amoxycillin: % %
4) chloramphenicol g : :m;
o j? dﬁﬁ;f:ﬂiiﬁgﬁﬁiﬁff f;ﬁ;ﬁefder 94.  4d, 5p, 5 21 6p saisiA Glod (W) U Garal sl
(1) f > Gp > 5p - 4{1 - aﬂéﬁ‘ﬂ; A @3&*‘{;&5&4
§ Py
) Gp > ?‘f} « > -51?. | 53:)) éﬁ >5f> 4‘5 > 5p
@ 5f>6p>4d> 5p @  5f>6p>4d> 5p
95, 'F".The method used t{} remov& temporary hardness 95. el »urd sBecl =& e -{tit-ﬂ“—u%ﬁ 825 ye&(clell
ofwatel 18: '@"-ii{l\'*l. Yy 3? |
(1)  Calgon’s method M) 5ol 9sal
2) Clark’s method @ el wal
®  Ton-exchangemethod - o suec ASR
(4)  Synthetic resins method @  wWrARd? oﬂ-—Ll vt
96. Which ofthe fn]lowmg is mcorrect statement ? | 96. Al ez ésg wlg [Qend bﬂg £7
() PbF,iscovalent in nature 1) PbF, -lusld %Lé%t*ﬂﬂ(& 9.
2 5iClyiseasily hydrolysed - - @  8iCl, A wanaw wm[c\mw o o0 5.
@) g:;{i: (X=F, Cl, Br, ) is more stable than @ GeX4 X=F, C}, Br D = GeX, aqcu oy 22l
(4) o SnF4 is fonicin nature @ :;ngﬂ 3-!.@[?[ o Tle
97. Maich the following : 97, 3w A ol
& Fure mtmge#' ® VAdhrme @ UL el @ sdbd
()  Haber process (1)  Sulphuric acid b o uhR (ﬂ) H%&& S
(@  Contactprocess (i) Ammonia ; T
@ 'Dea@_’h’s Pmcéss (iv) Sodium azide or @ WAl i) @pll .
T Bensuni iz de @ 3 (Deacon’s) Gv) ARWLAs
‘Which of the following is the correct option ? veafd 22 AR BB
@ ® © @ | A2 2l s s wedl Qsey §7
@ @& @ @) G (@& ((b) @
® @ @ O G ®» O @ @ @
® @ ™ @ 6 €@ @ @M 0 @
2-EE N
98. .S:njugate-base for Bronsted acids HyO and HF | g5 a3 $ ARG Hy0 214 HF W@ dyd] Ados el
==
(1)  OH~ and H,F*, respectively @D OH :)ﬁ H23+’ ?J{:iﬁ“l
@ HyO*and F- , respectively (_2) Hy0* T, 2isd
8) OH~ and F~, respectively ® OH~=F-, Q&j‘&ﬁ
4) H30+ and HoF+, respectively @ H30+ i H2F+’. %ﬁ‘q
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P6
99.

100.

101

102,

108.

The manganate and permanganate lons are

-tetrahedral, due to:

(1)  The w- bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

2)  Thereis no w- bonding

(3)  The - bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

(4)  Thew-bonding involves overlap of d-orbitals
of oxygen with d-orbitals of manganese

Which will make basic buffer ?

() 50 mL of 0.1 M NaOH +25 mL of 0.1 M
CH,COOH

(@ 100 mL of 0.1 M CHyCOOH + 100 mL of
0.1 M NaOH

@) 100 mL of 0.1 M HCl+200 mL of
0.1 M NH,OH

(@ 100 mL of 0.1 M HCl+ 100 mL of 0.1 M
NaOH

Among the following, the one that is not a

green house gagis:
(1)  nitrousoxide
(2) methane

3) ozone

49  sulphur dioxide

pH of a saturated solution of Ca(OH), 18 9. The
solubility product () of Ca(OH)y is:

1 05x10-18
@ 025x10-10
3) 0.125x10°15
4 05x10°10

Match the Xenon compounds in Column - [ with
its structure in Column - II and assign the
correct code :

Column -1 Column -11I
(@) XeF, 1)  pyramidal
(b XeFy (i) squareplanar
(© XeOF, (i) distorted octahedral
@ XeOy (v) square pyramidal
Code:
@ (b @© @
1 @ @ () @)
@ @ @ W @
@ @ @ @
@ @ o @ (i)

100.

101.

102.

103.

[ English+Guijarati |
Tl 21 YBlAe 2l wnAsasia 6 d Azl
Slell SREL 7 |
D) ar-oluril, 0GRt Al p-588L -l 2ARESIEA WA
Adledlos Al d-s8151 Hswudd 8.
@  w-oif- ag -l
@  r-olarr, 2Allsdtere Al p-saislHl 2uoiEA Wl

el L p-saidl 2isda B,

@) ot 20SRsred Al d-suslrl 2oEA e
Wiltedlos Al d-53151 dsuRa 8.

Ad-ratiell 8] ABs o152 o1 ?

(1) 0.1MNaOH 50 mL+0.1 M CH;COOH <
25 mL,

@  0.1MCHZCOOH 100 mL +0.1 M NaOH
- 100 mL

@ 0.1 M HCl < 100 mL +0.1 M NH,OH
200 mL

4 0.1 M HCl < 100 mL+0.1 M NaOH
100 mL,

A3 wilanmisl S8 wis Al Q8w ay adl. & 2l

@ e »sads

@ [BEn
@) =i
@) HER SSRGS

Ca(OH), -l ¥qd glael pH 9 8. dl Ca(OH),
~l gleuall 2eusik Ky ) 4 57

DO 05x10"L -

(2) 0.25x10-10

(3 0.125x10715

4 05x10~10

2oi=T Ui Sbelled 2elloyelll 2et=T1 Ui drit vigtRel 2
otdl 2 iRl 8l (Ridet) glonel :

M-I RIS ||
@ XeF, G [Marlse
® XeFy- ) el WHARR
© XeOF, @) [Cga 2resasiy
@  XeO, @) Ry Mol
AT

@ ¢k © @
m @ @ @ @
@ @ @) @
@ @ @ O @
@ @ v O @
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| English+Gujarati |

104. An alkene “A” on reaction with O and Zn—H,0
gives propanone and ethanal in eqmmnlar ratm
Addition of HCl to alkene “A” gives “B” ag the major
product. The structure of product “B" is :

ik
{1) Cl 2 CHE T OH2 EEp: CH
: -
CHECl
2 Hy;C-CH, - CH CH
o8
@ HgC-CH,—-C- (’JH3
. ; :
s
?Ha
H.C-CH-CH
4 I3 [
Cl CH;

105. Which mixture of the solutions will lead to the
formation of negatively charged colloidal [AgI]l~
sol. ?

(1)  80mLof1 MAgNQ;+50mL of 1.5 M KI
2 B50mLofl MAgNO;+50mLof2MKI
(3) 50mLof 2 M AgNO;+50 mL of 1.5 M KI
4 50 mL of 0.1 M AgNO,+ 50 mLof 0.1 MKI
106. For anideal solution, the correct option is:
()  A,ixS=0atconstant T and P
(2) A, V=0 at constant T and P
3 AL H=0atconstant T and P
4@ A G=0at constant T and P
107. Inwhich case change in entropy is negative ?

Evaporation of water

®

(2)  Expansion of a gas at constant temperature
(3)  Sublimation of solid to gas
@ 2H(g) — Hy®

23

Pé

104. {5 Uesld “A” «ll Og il Zn~ H,0 208wl s2al
A 24 3 w&c—m {gnﬂnrem w8,
leslH “A” U HCL GNd] v ey afly “B” wal 9.

+ell «flusy “B” o vitRgL 9 89

g
1) Cl=CH,-CH,-CH
I
CH,
CHyCl.
®  H,C-CH,-CH- CH,
CH;
3 HyC-CH,~C~CH,
Cl
CH,
- HyC-CH-CH.
@ T
Cl  CH,
105. elnka sellewrt [AglI~ e otetaa w2
2l Higll s il B gl gl 9
() 1MAgNOg+ 50 mL+1.5 MKI 450 mL
@ 1M AgNOy 50 mL+2 MKI 450 mL
3) 2MAgNO;+ 50 mL+1.5 MKI +{50 mL
@  0.1MAgNOz+ 50 mL+0.1 MKI 450 mL
106, s @ueal glovel w2, wiell QAsey 3y 87
O PRATAUAP WA, S=0
@ RATALPWA V0
® PRATAPWRA . H=0
@ HAATHIP WA, G=0
107. 13 sl g Do A2l 2l 35l
89
@®  wsild cwdlemq
@) RN A YR sy Rrare
@ et o gl Qleduian
@  2H(g) - Hy(g)

T
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Pé 24 [English+Gujarati]

108; ~The number of sigma (o) and pi (m) bonds in | 108, Ure-2-Gri-4-2dA Rl (o) 2 W (or) odéll «ll

pent-2-en-4-yneis: S SBIEL

(1) 10 cbonds and 3 whonds a5 100 o 330 idl
(2) 8o bonds and 5 wbonds _ '

(3) 11 obonds and 2 whbonds @ 8ol 5w oidl
(4) 13 obondsandnowbond @  11ooifl 214 2 7 cidll

. | _ , _ @ 180 oitl 2 o olf el
109. What is the correct electronic configuration of

the central atom in K, [Fe(CN)¢} based on crystal 109, 2503 é-\l 4 oqie Y BUGR K4[Fe (CN),] AR ML) A

field theory ? .
el daszid L Y 97
(D) by e 42
Lty e
- 6 0
2 tyy e
B & @ ty e
3,3
3 e” t
® 2 ® &t
4 2 .
@ ety ) et tg

110. For the second period elements the correct | 110. (gl apieldrl deell W2, e wAlsRe stediedl-l

increasing order of first ionisation enthalpy is : Rl 242l $H, 1AL
(1 Li<Be<B<C<N<O<F<Ne () Li<Be<B<C<N<O<F<Ne
@. Li<B<Be<C<O<N<F<Ne @ Li<B<Be<C<O<N<F<Ne
@ Li<B<Be<C<N<O<F<Ne @3 Li<B<Be<(C<N<QO<F<Ne
(499 Li<Be<B<C<O<N<F<Ne (4 Li<Be<B<C<O<N<F=<Ne
111. Forthe chemical reaction 11L qmm@lg SIESTRNES
Ny(g)+3Hy(@) = 2NH;(g) Na(g) + 3Hy(g) = 2NH;(g),
the correct optionis: Wil [Aseu e 7
L d(Hp] _ _ 1 d[NH,] 1 d[Hp] _ 1 d[NHy]
T3 Ta 3 dt (1) 5 at 2 &t
d[N,] d[NH;] d[{Ns] d[NH;]
- = 92 . o B8 -
2 dt dt. @ dt dt
g d[Np] _ 1 d[NH;] @ - d{Np] _ 1 d[NH,]
(©) dt 2 dbys dt. 2 4t
- _d[Hp] . d[NHg] 3::1[Hg] _ o 4INHg]
W g TP Tg ® & a

112. The number of moles 6f hydrogen molecules

required to produce 20 moles of ammonia through 112, doiz 4eald o Bl 1L 20 Al Gewier s2el W

Haber’s process is é;%le#ﬁ 5&?\?&1&[ e+l 2iv2a 208,
Q) 10 @ 10
@ 20 @ 2
@ 30 3 30
4 40 4 40
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113.

114.

115.

116.

If the rate constant for a first order reaction isk,
the time {t) required for the completion of 99% of
the reaction is given by :

1) 't=08693/k
@ t=6.909/k
@ t=4.606/k
@) £=2.303/k

The correct structure of tribromooctaoxide is :

D F
0% ([ _-ffo
O=Br—Br-Br=0
(1) 72 R
00 5 O
0
0\‘:: I ¢ _
@ 0_=Er—]5}3r—]§\r:0
O i
— O% il /0'
@ O Br-Br-Br=0
o 4 O
&
O\x .y //O -
=Ryr—Br—By—
@ O Er Ir ]Eir O

Which of the following diatomic molecular species
has only 7 bonds according to Molecular Orbital
Theory ?

®» O

@ Ny

@ G

@ Bey

For the cell reaction

3Fed+(aq)+ 21 (aq) — 2Fe?* (ag) + Iy(aq)

ES =024V at 298 K. The standard Gibbs
energy (&-IGG) of the cell reaction is

[Give:d that Faraday constant F =96500 C mol~ 1]
(1) —46.32kJmol~!

@  -23.16kJ mol™!

(3) 46.32kJ mol !

(49 23.16kJ mol !

25
113.

114,

115.

116.

P6
ol Hud 51 Al UBAL W2 Sl 2anls kS dl, M
99% el seetl w2 or3dl o 6) Adeirisll Al
1)  t=0.698/k
@  t=6.909/k
3 t=4.606/k
@  t=2.308/k

eroilalszpdruds < we oiure 2.

O "t AP
O=Br-Br—Br=0
ey A R
0 0 0O
O
O% 1 40 =
@ 0=§r—3r—%r:0
0 _ 0
O
0 e
- .O% o 2
a2 pr-bredr=0
0
0% i 4?0 s
—Br—Br—Br—
@ O jjr 11* ]ir O

s (@ stiseus A4 wuald AL sl 58
fruzaiells 2uleay wdladls WA s5c w ot 87

(1) _0.2_'
@& N,
@ G
@  Be

ACBIESTRR
9Fe3* (ag) + 21~ (aq) — 2Fe2* (aq) + I,(aq)

298 K W B3 =024V 8. sl %12 Wit
oo Qo (8,6°) 487

(3R 2amils F=96500 C a1 24l 9)

(1) —46.32kd mol 1

2 —23.16kJ mol 1

@ 46.32kJmol ™}

@  23.16kJmol~!

T
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117. The most suitable reagent for the following
conversion, 18 :

H,C CH,
HyC-C=C-CHy —> /\=<
H H

cis-2-butene
() Na/liquid NH,
& H,, Pd/ C, guinoline
(8 Zn/HCL .
4 Hg?*/H*, H,0

118, A compound is formed by cation C and anion A.
The anions form hexagonsl close packed (hep)
lattice and the cations occupy 75% of octahedral
voids. The formula of the compound is :

1) Coag
2 CaA,
@)  CaA,
@  CA,

119. Among the following, the reaction that proceeds
through an electrophilic substitution, is :

: +
(1) -Ngm OugCle QCI+N2
@) ®+012 sl QCHHCI

Cl

- ©+012M01 —Cl

Cl

Cl
4) Q—CHEOMH(J]%QGHECHHEO

120. The bicdegradable polymeris
(1}) nylon-6,6 |
(2) nylon 2-nylon 6
(3) nylon-6
4 Buna-S

121. Which of the f{ﬁlowmg species is not stable ?
a [SiFg]2~ |
@  [GeCl)2-
@  [Sn(OH)z)-
@  [SiClg1e~

26

| English+Gujarati |
117, = 200 3uice 42 2l Yol wus 84 wisl
2.
HyC-C=C~-CH; —> /\—__<
@%2 oyl

(D  Nameudl NH,

@ H, Pd/C, Badd
@) Zn/HCI
@ Hg?*/H*, Hy,0

118, 4rl 2 C ¥ 1l e A 4R Bls delloyed 047 8.,
QL BRrl] @5o3lotlni@ scllos s (hep) e oD S
i et 2AR4AL 75% 20525684 B A 8. Al wdlort

ESCRIENR
1) CoAy
@ CgAy
@ G,
@ CuAq
119, A2l 2ueuniell 15 21s b A 2ezi0ll Ry
IR 20 4Y O o 204],

+
(1) @—NECH Cu2012 .—CI+N2
Cl
(2) @wxﬁl 2 QCI+HCI

” ®_+ o1, UY MR, al

Cl Cl

(4) QCHonmmﬁi*L@'-CHEGHHEO

120, syeildmz-ily cigas el
(1) ~AudlH-6, 6
@) AEdiA 2-iudid 6
3  Ad--6

@ Y-S
121, AR 2l 2 lalofiuiefl 58 2ig 2upl axll 9

() [SiFg]%~

@  [GeCl ]2

(3 {SH(OH)E ]2 3

@  [SiClg)*~
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122,

123.

124.

125,

Which of 1;.].:1'9. fbﬂowing is an amﬁh.ﬂteri:::
hydroxide ?
(1)  Sr(OH),

@  Ca(OR),
(3) Mg(OH),
@), -Be(OH),

The correct order of the basic étrength of methyl
substituted amines in aqueous solutionis

1)  (CHyyNH > CHyNH, > (CHg),N
@  (CHy)3N > CHoNH, > (CHg)pNH
@) . (CHy3N>(CHy),NH >CHNH,
@  CHzNH, > (CHy),NH > (CHg)yN

The major product of the following reaction is :

COOH s
+ NH, strong heating 1
COOH
COOH
- "CONH,
O
0
| COOH
NH,
~ ,NHy

NH,

Which one is malachite from the following ?

(1) CuFeS,
2 Cu(OH),
8y FegOy

4  CuCO3.Cu(OH),

27

123,

125.

M  Sr(OH),
@ Ca(OH),
@  MgOH),
@  Be(OH),

P§

122, 0 2danisl 2 A5 Goippll adgsuss 87

secll greel [ﬁm&?«:—;&mﬁlﬂ I leAl Al WM

METECENLIR

(1)  (CHy),NH > CHyNH, > (CH,)N
@  (CHy);N>CH,NH, > (CH,),NH
@  (CHy)gN>(CHy),NH > CH,NH,

(4) .'CI.'];E'NHE > (CH:;)ENH > (CH3) 3N

124 & 2l et ot ooy srgul.

COOH
cllst 9RY 839
+ NH, >
COOH
COOH
(L)
2)
® |
NH,
NH,
(4)
NH,
A3 2l & As sz 37
(1)  CuFeS,
@  Cu(OH),
@ Fe,0,

@  CuCO4.Cu(OH),

T
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126.

127.

128,

129,

130.

28

The mixture that forms maximum boiling
azeotropels :

(1) Water+ Nitric acid

(2  Ethanol + Water

(8)  Acetone+ Carbon disulphide
(4)  Heptane + Octane

Identify the incorrect statement related to PCI,
from the following :

(1)  Three equatorial P— Clbonds make an angle
of 120° with each other

@) Twoaxial P—Clbonds make an angle of 18(0°
with each other

(3)  Axial P—Clibonds are longer than equatorial
P - Clbonds

4)

PCl; molecule is non-reactive

Under isothermal condition, a gas at 300 K
expands from 0.1 L to 0.25 L against a'constant
external pressure of 2 bar. The work done by the
g2as 1s |

[Given that 1 L bar=100 J]

O -30J
@ BkJ
3 25d
4 80J

Which of the following series of transitions in the
spectrum of hydrogen atom falls in vigible
region ?

(1) Lymanseries
(2) Balmer series
(3) Paschen series
(4)  Brackett series

Which of the following reactions are
disproportionation reaction ?

@ 2Cu* - Cu?t+Cu®

®  SMnO7 +4H' - 2MnO] +MnO, +2H,0
© 2KMRO4—A'—> K2m04 & MnOz + 02
@ 2MnO, +3Mn** +2H50 — 5MnO, +4H®

Select the correct option from the following :

(1}  (a)and (b) only
2 (a),(})and(c)
3 {(a),()and(d)
@  (a)and (d)only

[ English+Gijarat |

126. {2 e Pasriell s 25 o uexn Gosart AARARY

127,

128.

128,

130.

87

@ uwgl + uddls 2iRs

@  SEia + well

@ AR + slod srmesds
@ &R + W

A2 2damiell PCI, A el g B 20,

@ @ el (equatorial) P - CT it (¢l
vigoflon-{l Wil 120° A vgllwnd 8.

@ A @l P-Cl 2ol (o)) Dsellondl W
180° <Al vRll vt-1d S,

(9 2l P - Cl i, weuad P - C1 o6l sdl diewt
SR8,

@ POl g 2 245y 8,

el WRERAM, 300 K W Qe 2 o4R-oll a0
B EARL - ot 2ts <1y 0.1 T, wiell 0.25 L Qe 8.

ol el o ag 58 4 627 [1 L Ar=100J w1l B]

O -30Jd
@ 5ki
@ 254
@ 30J

Al et wigifarl Aellaiuidl 56 gifgort wrngru
cgluzHl g [BRarul W@ §9

() A Al
@ o el
@ waH el
@ oi¥e el

A2 2l Mol 66 Sis Rellszel w89

@ 2Cut - Cu?t+Cu

&)  SMnO, + 4H' - 2MnO; +Mn0, +2H,0
© 2KMnO, 8, Ko,MnO, + MnO, + O,
@  2MnOj +3Mn?* +2H,0 — 5MnO, +4H®
Al wtarie] well Risey wig sell.

1) $%d (2) i (b)

@ (@, )2

B (@, Q¥ @

@ 55 (a) 2 (@)

T
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1817 “Fora cell involving one electron Egy; = 0. 59V at

298 K, the equilibrium constant for the cell veaction
18 :

2.303 RT

[Given that = 0.059VatT = 298 KJ

1.0x 102
1.0x 105
1.0% 1010
10><103.ﬂ

@
@
3)
(4).

132, The structure of mtermedlate A in the following

réaction, is :

OH

H,0—C-0-0-H

@)

@

@

29 P6

131 298 K R slNui ool dol »is ddsgiq iR

gm" 059 V.. dl sl ufbul 32 gt miinis 2liell.

[T =298 Kw 2303RT _ 0 650 vaua 3‘3]
(4 10x102
(@ 10x10°
@ 10x1010
@ 1.0x1030

182. weuddl A o ol A2 20a b 2.

CH,
CH/ OH
- NCH,
| O
Oz, 4 HY | ry wm
Hzo 3 : 3
#
0o~
CH,
1) |
CHy

Hy0- 0 =065

’ @
CH3
O0-0- CH
o @ oH,
el
™ CH,
@
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133.

134,

135.

136.

187.

The non-essential amino acid among the following
18

(1)  valine
@ leucine
8) alanine
@ lysine

A gas at 350 K and 15 bar has molar volume
20 percent smaller than that for anideal gas under
the same conditions. The correct option about
the gas and its compressibility factor (Z) is:

() Z>1and attractive forces are dominant
(2) Z>1andrepulsive forces are dominant
(3) Z<1and attractive forces are dominant
(4 7 <1 andrepulsive forces are dominant

Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the cofactor.
Mis:

M Be
2 Mg
@ Ca
@ Sr

A mass m is attached to a thin wire and whirled
in a vertical circle. The wire is most likely to break

when :

(1)  the massis at the highest point
2
3)

@

the wire is horizontal
the mass is at the lowest point
inclined at an angle of 60° from vertical

+6V
i

The correct Boolean operation represented by the
circuit diagram drawnis :

(1) AND
@ OR

3 NAND
4) NOR

30
133.

134.

1885.

136.

187.

| English+Guijarati |
12 2aeiell Birziais 2R 2R LE.

@  Ad-
@ el
B  HAa-us
@

s Uy o AR & 350 K 2 15 ol W wieel iyl
dey RRRAML arvunell s2ai 4 20 Mzt A ©. ol
g, 112 WAL (A5 el el gotr{l 2iaist (Z) Wl

Q) Z>1 21 2us8QL et wetel 8,
@ Z>1 2 2puisel ool veudl 8.
@ Z<1 il susne ool doudd 8.
@ Z<1 e s ol ueudl 8.

i3 RldirclR iR Gealsl ATP -l Gualldl &% R
VSIS 18 aig, (M) USHANS (cofactor) s Bf%ﬂ
A B, QM g B9

(1) Be
2 Mg
® Ca
49 Sr

m’ gAML #5 WAl AR Wil oAl © 24 Gedd agn
W [FeRa . 21 dr 4lat Mol gl st el -

1) ged =L Gl G figt gl
@ ar walBdder .

@ gearun L i Al [Fg g,
@  Gedall 60° sl A ¢y

+6V
L

l:’%LED )

F-

%R

SRl ulde slum A vy ad WY qdlut (Boolean)
ARAUA © -

(1) AND
@ OR

3 NAND
(4 NOR
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138.

Six similar bulbs are connected as shown in the
figure with a DC source of emf E, and zero internal
resistance.

The ratio of power consumption by the bulbs when
() all are glowing and (i) in the situation when
two from section A and one from section B are
glowing, will be :

31

Pé

188, Y wicls 28 214 E eme Ul 215 DC Geor 1l

w5l ool Wl & UHIAL e sd36 B,

SRR (1) Atlley cieed Al St duiedl (i) (et~ A el

2el [Betat - B -l s oo Alg X A WRRAA
Rl Wkl ARl §3L

% >
— T - A B
w | L
m | L
b
| E
E
H 4:9
@
2 9:4
@ 9:4
5 3 1:2
® @ 2:1
@ 2:1
o, in i st 139, €35+l £ Segdeld Sl dell of i Wit 3y wlln
139, o similar thin equi-convex lenses, o ength o . - g Fn
feach, are kept coaxially in contact with each other (_.E ‘.1_“1'@0“‘_1?"? 3121}% Mﬁ'ﬂl H’*{ . _%ﬁ-ﬂ%_l_%l@?ﬂ f}iﬁﬂ
such that the focal length of the combination is. Rl el 2 8% ol 2L sl -l drgdond
Fy. W}:ien' the space between the two lenses is Py 8. sl qlﬂg,} qapl.ﬂ oyl (Rl o}
filled withie)yeerin (Whic i st eatieretodive el 2119 (% el st 2cllsr alioietis 8 (w=1.5)),
index (= 1.5) as that of glass) then the equivalent - it Rk - 3 oted s
focal length is Fy. The ratio Fy : Fy will be : IR AU, ?’ff@‘._’u%?F'z 9. Fp:Fy Al A8k &L
@ 2:1 @ 2:1
@ 1:2 @ 1:2
3 2:3 @3 2:3
4 3:4 4 3:4
1 140, e 2uad Al Rati s 591 AR
140. The displacement of a particle executing simple

harmonic motion is given by
Y= Aol-i- A sinwt + B coswt.
Then the amplitude of its oscillation is given by :

D Ay +VA®% +B?

y=Ays+Asginet+ Becoswb
o 2L 2 B,

el 241 Sl SRR 2Nl 208 6

@O Ay + VAZ + B2
@  JA? +B? @ a2 ;B2
® JAZ +@a+B) ® A} + @ +BY?
@ A+B 4 A+B
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141. Inwhich of the following processes, heat is neither

142;

143.

absorbed nor released by a system ?
(1)  isothermal

@  adiabatic

(3)  isobaric

(4)  1isochoric

A disc of radius 2 m and mass 100 kg rolls on a
horizontal floor. Its centre of mass has speed of
20 em/s. How much work is needed to stop it ?

@ 3J
@ 30kJ
@ 24
@ 14

In the circuits shown below, the readings of the
voltmeters and the ammeters will be :

144.

10 0 iy 100 i
— @& @ @)
| 1 | 1
10V 10V
Circnitt 1 Circuit 2

@ V=V, and i;=i,

@ V,>V,; and i, > i,

‘a-particle consists of :

(1)  2protons and 2 neutrons only
@  2electrons, 2 protons and 2 neutrons
(8)  2electrons and 4 protons only

4) 2 protonsonly

[ English+Gujarati |

ML A3 wBdiell sanid G e Geriodo s8ey

ud -l 7

O wuHandl
@ el
@ uuzll
4 uuse

142. 518 is WHElder AR R 100 kg ao4u B4 2 m
Bocurll »is sl oo 8. At goint Yrell asu
20 em/s 6. A Aselt 32g s0d 52 W 7
o s =P
@ 30kJ
@ 24d
@ 13
143. {2l gulela wRvenl deeiier v vifzad e ¢ ;
m
@
|
10V
wikuy 1
D) Vo>V g =i,
@ V =Vyi; >,
@ V=V, i =i,
@ V>V i >,
144, a-5QL R S

MO g5t 2 el i 2 e
@ 2 5dsgl, 2 3eieu A 2 YA
@)  #d 2 95 i 4 Ml

(4  $5a 2 M2i-d
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145

146.

147,

148.

149,

..Two particles A and B are moving in uniform

" éireular motion in concentric circles of radii

r, and rg with speed v A and vp respectively. Their
time period of rotation is the same. The ratio of
angular speed of A to that of B will be :

(1) ry:rp
@) vy :up
3 rgixy
4 1:1

For a p-type semiconductor, which of the following
statements is true ?

(_1_).'__ Electrons are the majority carriers and
: tl'lvalent atoms are the dopants.

(2) Holes _are the majority carriers and trivalent
atoms are the dopants.

(3 Holes are the majority carriers and
pentavalent atoms are the dopazits:

@  Electrons are the majority carriers and
pentavalent atoms are the dopants.

Which colour of the light has the longest

wavelength ?
() red

(2}  blue
3 green
4)  violet,

Pick the wrong answer in the context with
rainbow.

(1) When the light rays undergo two internal
reflections in a water drop, a secondary.
rainbow ig formed.

20 The order of colours is reversed in the
secondary rainbow., :

(3)  Anobserver can see a rainbow when his front
is towards the sun.

4 Rainbowisa combined effect of dispersion,
refraction and reflection of sunlight.

A small hole of area of cross-section 2 mm?2 is
present near the bottom of a fully filied open tank
ofheight 2 m. Taking g =10 m/s2, the rate of flow
of water through the open hole would be nearly :

1)  12.6x10-8m3/s
2) 8.9x%x10-%md/s
3 2.23x10-6md/s
@ 6.4x10-8m3/s

33

1435.

146.

147.

148,

149.

P6

A 2 B 9 50l 320 1, A 1 Bl w3
aduil W 2l v, @i g, syl (R a2
S8, daildl sl wadsin W . A ol Slell
U Al B Al slelly 35url el ¢l -

M vy
(2) tUp
(3 rE S
@ 1:1

514 21 p-type 2iedotigs 42 H3uisll 84 Reurt e 37

1)  dasgea i‘tehq'lél %&e&i & il 21482 WRAUIRp
Sluez B,

@ Qen gl %&qa{ 8- el 2luSledre Wl
Siure 8,

9 et AL IRA B 217 V2diarz wRAigpll

sluee 9.
@ SQs-u AadlA Bl B 24 Vredere gl
Shure .

U181l S 1] 3oL dotid Heau ©§ 9

()T
@ o)
® da
@  sfad

Aeisieyraed) digofu] W2 syt waig 53\,
1) oAR usiel (el wellq gl A ticils
wRiedell WAL B, ) oL Aeer 2 D,

@ ollg Auuspyui il 3 Gead 8,

@ s RRaisd yw (front) b0 Wil da @ A
Npudd 03 B,

@ 3wl Rousrd, afyeiad v wWiadeedl
U85 2R 2 Ao B,

2'm QUS| s Yela: kel veedl zigh alhry v
2 mm? 205 foign diag Bs - s1g R S
g=10m/s? dde, 2 vieal sl et Wl eugdl
§2 loL g8l ¢

L 12.6x10 8 md/s

2 8.9x10-8m¥s

@) 2.23x10-%m8/g

4 6.4x10 " %mds

T
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150. The total enexrgy of an electron i in an atom in an | 150, i el 918 s sl $Asrl 5o Qed —3.4

orbitis ~ 3.4 eV. Its kinetic and potential energies oV 8. ol o 2 AR Glodail P B
are, reéspectively : ¥

(1) —38.4eV,~34eV (1) -—34eV,—-3.4eV g
@2 —34eV,—-6.8eV @ —84eV, -6.8eV

(3) 34eV, —6.8eV (3) 3.4eV,—-6.8eV

(4 3.4eV,3.4eV 4) B8.4eV,3.4eV

151. The radius of circle, the period of revelution, nitial 151. qgm&l ﬁﬁﬂl, w{xeu-ﬂ Q-'{lﬂ‘-tc{&l.lfl, HR-&% SR

N r - H
position and sense of revolution are indicated in orueill Ben 2ugldaul geldle 8. oL skal seU P -l
the fig. Fievl H[’Eﬂrﬂ y—ll@l"{ (projection) & ‘.
y E Y . , y Fy

B{t=0)
\T=4dg"

% - i};rf:-;;ectmn of the radius vector of rotating particle D y@©=—38 cos2nt, ol ym Hi 3

(1) y({t)=—3cos2wt, where yinm ; ST . L
©@ yt)=4sin E‘),S_ﬂlym W

. St

6) y®=3 ﬂﬂﬁ( ) éedl ym WL S
. (3wt | 2

@ Y =3cos —5 |, where yinm

. I

| @ Y®=3 cos[%)_,_ sl ym Wi
t

@ =3 cns(%—] , where y in m

152. The unit of thermal conductivity is : 152, GluL clgscil 2l B -

() JmK-! (1) JmEK-!
@ Jm-1K-1 @2 Jdm 1K1
() WmK-1 3 WmK-!
4 Wm-1K-1 4 Wm 1K1

153. A body weighs 200 N on the surface of the earth. | 158, yael{] 2wél wz 2is qgip,{ti csyl 200N AL S, yeel-

E?;iiﬁ }T‘?l it weigh half way down to the centre | g, cts 2466l Glo1S B Aef vt o 217
@ - 150N ® 150N
@ 200N @ 200N
3 250N @ 20N
@ 100N @ 100N
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154.Body A of mags 4m moving with speed 1 collides

156.

156.

a -;-
@ %_
® 5
@ <

with another body B of mass 2m, at rest. The
collision is head on and elastic in nature, After
the collision the fraction .of energy lost by the
colliding body A is;

The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 ni/s and is flowing
due east. Ifheis standmg on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes
w.r.t. north is given by :

35

(1)  30°west
@ @

(3) 60°west
4  45°west

A cylindrical conductor of radius R is carrying a
constant currént.” The plot of the magnitude of
the magnetic field, B with the distance, d, from
the centre of the conductor, is correctly

represented by the figure :
B
(1) AN
R d
B
¥
R d
)
@

154.

155.

156,

1
O 3
8
2) 9
i 4.
@3
5
(4) 3

P6
4’ gL 2w Ul ol sacll @5 ugied A W

. ‘2m goqmr-,lru 2l (U s s ygle B sl g
B. B MUY head on 4 FARRAMNS gl 8.

AL Ul vgied A o apieicll Glod+l eveel & -

Qi (still) Wil 21 Azl 244 20 m/s S, ~gle
Wl 244 10 m/is ® wA A yd azs w® B, st A
£E0 B Goll & 247 A ety 2Acd «i€] Wi szew §26

8, dl Geieell WA A s vl MR 526l AT AN

AL 2§
O  30°ER
@ o

@ 607 uEA
@ 45° B

R Floct sl 315 ciigs 0usk wiam yeig difkd 9.
il Qotril et B 24 cligsrit drg ol wick d, @Al
2t e ddd $8 @uigliel exiadia § 9

B——
) \
R d
B
@)
R d
B l
3)
R g
B .
@ |
R d

T
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.1567.

158.

159.

160.

When an object is shot from the bottom of a long
smooth inclined plane kept at an angle 60° with
horizontal, it can travel a distance x; along the
plane. But when the inclination is decreased to
30° and the same object is shot with the same
velocity, it can travel X5 distance. Then X] i Xg
will be :

M 1:42
@ J2:1
3 1:43
@ 1:28

A solid cylinder of mass 2 kg and radius 4 cm 1s
rotating about its axis at the rate of 3 rpm. The
torque required to stop after 2 revolutionsis

1) 2x10-6Nm
@ 2x1073Nm
I(S) 12x1074Nm
4 2%108Nm

At a point A on the earth’s surface the angle of
dip, 8= +25°. Atapoint B on the earth’s surface
the angle of dip, = —25°. We can inferpret

that :

(1) A and B are both located in the northern
hemisphere.

(2) A islocated in the southern he misphere and
B is located in the northern hemisphere.

(3)  Aislocated in the northern hemisphere and
B is located in the southern hemisphere.

(4 A and B are both located in the southern

hemisphere.

Tonized hydrogen atoms and a-particles with same
momenta enters perpendicular to a constant
magnetic field, B. Thé ratio of their radii of their
pathsrg:r, willbe :

H 2:1
@2 1:2
3 4:1
4 1:4

36

L

157.
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160.
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B Rey A 60° D161 e s dion i sl iRl
L AlSell e A1 1ol 92 sl A B AR A 2L
Wzl W x, e ik 14 8. uig edR 8101 seilk
30° sxelit] 219 211 2oy WgislA Ao AL lk g SR
23 il A xy AR 5B, oy iy A

M 1:42
@ ~\/§ T
@ 1:43
@  1:248

2 kg s ¥l 4 cm Blscl Riedl 215 8 ANsR
Al 28R WA 3 rpm L 82Ul BRI 82 B, 2w B

uesl A sell e ovgl el &
(1) 2x1075Nm

@ 2x10~3Nm

@ 12x1074Nm

@ 2x10°Nm

yeeflfl 2wl r-L 516 i [Gig A wr Ru sl9L (angle of
dip) 8= +25° 8. Yyl wuél vl Big B W R

$19L (angle of dip) 5= —25° 5. UYL 2N YUY

wslal s

@ A2 B e Gor webloudui Bud 8.

@ A= AEpounl RRq '-bt-'l B 3 G
P R 8,

@ A G aubloudui Bud 8 2 B » g
vyehllnelal Rua 6.

@ A 2B g gBgl ool fud S.

R GEQerrt gl 21 o-580L A S1e]
i 2otst S B Ml ded Ad 1A 8. duel ueidl
Blorl ikl llet? vy 1 2y €21+

1 2:1
& 1:2
@3 4:1
4 1:4

T
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161.

162,

163.

164.

165.

Inwhich of the following devices, the eddy current
effect is not used ?

(1) induction furnace

@) magneuc' braking in train
(3)  electromagnet

@  electricheater

A force F =20+ 10y acts on a particle in y-direction
where Fis in newton and y in meter. Work done
by this force to move the particle from
y=0toy=1mis:

1 304
‘@ 5d
® 25J
@ 20J

A block of mass 10 kg is in contact against the
inner wall of a hollow cylindrical drum of radius
1m. The coefficient of friction between the block
and the inner wall of the cylinder is 0.1. The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinder is
vertical and rotating about its axis, will be :
(g=10m/s?)

1 10 radis
10

@ o rad/s

(3 10radfs

(4) 1047 rad/s

A copper rod of 88 em and an aluminium rod of
unknown length have their increase in. length
independent of increase in temperature. The length
of aluminium rod is : (a, =1.7x10-3 K~ and

() 6.8cm
2 113%cm
3 88cm
4 68cm

An electron is accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength
is, (nearly) : (m,=9x 10~ 31 kg)

(1) 122x10- 18y
2 122x10-12np
@ 122x10- 14y
4 122nm

37
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Pé

Aldt Guslaisll sl Bdl-seuss 2iua-l Guziiol e
"l 9

(1) S804 20

@ i WwAdls dliay
@  [yayes

@  dasds der

25 501 W2 y- Bl F=20+10y o vin adl &, e
F 2L w2t a1 y 2 afleat] 8. 2 g0 y=0 o)
y=1m Wy i ’0{1(’{{’1'-‘&-?{@_3&5:

O 30J
@ 5J

@ 25d
@ 204

1 m Rt 34 e sk Jugiedl sigel 2ewdly
UL 10 kg geuntll s odlls B, 24 odlls 2
SRl 2igeell A A eriolis 0.1 8. s 211
AR Geallear S Al 2umA A ) Gy i
L oclls (R vt vzdl Slelle oL ) :

(g=10m/s%

D 10 rad/s

2) 59 rad/s
20

3 10radss

(4) 10 7 rad/s

88 cm -l s diei-l W A gl doude
et W) doudulng anpur sarel 2ed
A szl a8, w1 AR uBuAl doud S -

(G =1TX 107 P K~ 12 0y =2.2x 10-5K -1

() 6.8cm
2} 1139cm
3} 88cm
49 68cm

10,000V A Rl cgteit o g SAs2l A 1B
SRR 209 B, arll R-ollod etdol cious (Al rswsedl)
§: (m,=9x10~31 kg)

() 122x10"13p
@ 12.2x10" 12y
@ 12.2x10 14y
@ 12.2nm
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166..

167.

168.

Which of the following acts as a circuit protection,

device?

1)  conductor
(2) inductor
(8) switch

@) fuse

Two parallel infinite line charges with hnear
charge dengities + A C/m and —A C/m are placed
at a distance of 2R in free space. What is the
electric field mid-way between the two line
charges?

(1) . zero
A G
A
&) y N/C
A
N/C
@ 2meg R

Two point charges A and B, having charges
+Q and —Q respectively, are placed at certain
distance apart and force acting between them is

F. If 25% charge of A is transferred to B, then

force between the charges becomes :

M ¥
9F
& 5
16F
@
AL
@

169. -A hollow metal sphere of radius R 1is uniformly

charged. The electric field due to the sphere at a

‘distance r from the centre ;

@)

increases as r increases for r < R and for
r>R

zero ag r increases forr <R, decreasesasr
increases forr> R

oy

zero as 1 increases for r <R, increases asr
increasesforr>R

3

@)

decreases as r increases for r < R and for
r>R

38

166.

167,

168.

169.

English+Gujaratl
Auisll 5 ulbe Mesu WA S 7
D s
@ R
® A
N

A C/m 4 — ) Cfm LA iR 2 of Blyaed)

3 @ Yoflu [Qsveir st 8 © dzlld Yo 2esiRid
A ofletell 2R »ick W B, 2t A 1l ezl
weaui ded [Qga R el 7

M YA
: 2N -
@  mr VO
A
N/C
{3) "ITEﬂ R
by
N/C
(4) Z'TFE[)R

sBs +Q 21t —Q Rsvoir aial A Pigan [Qovenl
A=A B A 915 oloaefl Bt 2R W 210 e 8 %
wofl il 2l @i AN F O, ol A -l 25% B
B Wz gk skl oud, ol 2 BerRl ol apig
o YL

Q F
gF
@ 15
16F
@ 9
4F
4) 5

R-Biscuel tigl 35 Nl 21l (el Roroulet 8.
Yegll p e 2t dloun I8l gy g

(1) r<Ralr>R U urad S dnad s,

@ r<RU2Urad S ANYAS, r>R U2 IU
rofl 8 Ay U2 8.

3) r{R%ﬁﬁ}HrC{ﬁﬁaH%ﬁ@,rbRH@@?ﬂ
by SERS ?m&qéi @

(4) 1'{RQ>l:l'r}R’1{IEG?1{r‘51‘].E§'&?J}E§.
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170. The work done to raise a mass m from the surface.
of the earth to a height h, which is equal to the
radius of the earth, is :

[ English+Gujarati |

I mgR
2 2mgR
1
— mgR
@ me
3
— mgR
@ 5 me
171. A parallel plate capacitor of capacitance 20 pF is
being charged by a voltage source whose potential
1z changing at the rate of 8 V/s. The conduction
cuwrrent through the connecting wires, and the
displacement current through the plates of the
capacitor, would be, respectively :
(1) zero, 60 pA
(2) 60pA, 60pA
(3) 60pA, zero
(4)  zero, zero
172. Increase intemperature of a gas filled in a container
would lead to :
(1)  increase inits mass
(@  increase inits kinetic energy
(3) decreaseinits pressure
(4) decrease in intermolecular distance
173. When a block of mass M is suspended by 2 long

wire of length L, the length of the wire becomes
(L.+1). The elastic potential energy stored in the

extended wire is:
1 Mg
2 MgL
1
@ 5 Mgl
1
4) 2 MgL

170.

171.

172.

173.

P6
yeellell wwdl weell m gesial h G, ¥ o yeelledl
Blecn o1z B, wr af svall W 53¢ usq 56l & :

M

ool Rl 3 Vs ofl vlgeldll €l dal Aedey Georn
R 25 20 pF 3URR-A As AR @2 WR2A 2A1ef
Sl e O, sAstel Rl iR udl dlss Mol
4 3Rz Qzatiell vt 2l Jrrdiiiles Hetg 538

&

1) U, 60 pA
@ ©60pA 60pA
@ 60 pA, Y
@y, Y

518 el oell arye] aroi asrdl d wRed S -

(1) il geuml cuR)

@ -l ol Qedail ward
(3)  dell SEnl seust
@ iRl il w218

L dottS-l 2is divit R W o3 M ﬁ@{‘ll.-l-rll g oelis
desteeil g 8 MR 2 drdl doid L+ a8,
il el 20 il daus Wid Ruildeeus RRQ Ged

-

o I
(1 Mgl
2y MgL

1
3) 5 Mg!
4 = Mgl
@ 2 Mz
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174.

175.

176.

177.

In a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?

(Rovater = 4/9)

1)  0.266°

@  0.15° ’
@ 0.05°

@ 01°

A soap bubble, having radius of 1 mm, is blown
from a detergent solution having a surface tension
of 2.5 10~ 2 N/m. The pressure inside the bubble
equals at a point Z below the free surface of water
in a container. Taking - g=10 m/s2
density of water = 103 kg/m3, the value of Zis :

(1) 100 cm
(2) 10cm
@3 lem
4 05cm

A 800 turn coil of effective area 0.05 m? is kept
perpendicular to a magnetic field 5X 1075 T.
When the plane of the coil is rotated by 90° around
any of its coplanar axis in 0.1 s, the emf induced
in the coil will be :

G 2V

2 02V

B 2x1073V
4 0.02V

A particle moving with velocity ? is acted by three
forces shown by the vector triangle PQR. The
velocity of the particle will .

5
R Q
(1) increase
(2)  decrease
(3) remain constant
e
(4  change according to the smallest force QR

What will be the -

40

174,

175.

176.

177.

| English-+Guijarati |

- (el wllordl 4R 400 nm a0l (-MLES'-U. 49l
it R 1 m 3 bet usel W 2aucll e el
Sl udlous 0.2° sdell Motk gl s 20 2oL WP
e wpllnl gousernl wud dl el 1 el
stalla uglous 1 €2l 7 (e = 4/3)

(1) 0.266°
2  0.15°
@  0.05°
@ or

2.5x1072 N/m yssaigl auedl 248 [sererweil
greetief] 1 mum +{l Blsviidl 2l oot saiaam 2ud
8. woiarll »igad geugy 3 worl well g&d:amélr{l
A4 Z, [Gi.g WRell EALSL WA B, g=10 m/s?,
yollel) sietcll, = 108 kg/m?® ada, Zﬂ dyen

() 100cm
@) 10 cm
3 lcm
4 0bcm

0.05 m2 222Rs HAFN 2 800 Hi2L Uil 15
oL 5 X 10~ 5T 2forsl it A ot viey 209 8.,

SR AL SRl et drll SEUSL AU Mgl
2Argctrlinl 0.1 s 1 90° gputetsirnl 208, <l AL ]

AR o emf €2 :
®H 2V

@ 02V

@ 2x1073V
@ 002V

v 12l AR Rl 2is $81 'R A o] 2 aui etcied)
mmel Alkel B9 PQR o @il 8. =il 591l €t

P
R Q
1) dusl
@ 4edl
@) RN
@ Ao QR wudl vsasl
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[ English+Gujarati ]
178.

179.

180.

H 180°

@ o

1(3) equal to.angle of incidence
(4) 90° A

Average velocity of a particle executing SHM in
one complete vibration is:

Aw
(1) o
@ Ao

Aw?
O =
4) =zero

In total internal reflection when the angle of
incidence is equal to the critical angle for the pair
of media in contact, what will be angle of
refraction ? |

In an experiment, the percentage of error occurred
in the measurement of physical quantities A, B, C
and D are 1%, 2%, 3% and 4% respectively. Then
the maximum percentage of error in the

| AZ B/
measurement X, where X = , will be :
/s D3
&
— |%
(1) [13J -
2) 16%
@ —10%
4 10%

-00o0-

178.

179,

180.

Pé6

SHM $2dll 15 Q1L 215 Yol Syt gL udReL oy

o
; Aw
M
@ Aw
A{pz
@
@ U

Yol 2tidls wadel o 2uwd S Al wa
el ofs MR-l B2lse Sl e A R alboan
sleu o] el 7

@, 180°

@

(3)  2Mid slQL el
4  90°

518 wis NabHl A, B, C 244 D ol(ds Rl Hra
el ulcieiet A 2rgs3l 19, 2%, 3% A 4% .

dl X el Wetl Heetu Al 3R $2L.
. AZBK

Lok B

3

= 1%
@ (13]
@  16%
@ —10%
@ 10%

-0l o-
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Read carefully the following instructions:

A et Syl il ©

“her Admit Card to the Invigilator.

5  No candidate, without special permission
of the Superintendent or Invigilator, would
leave his/her seat.

9. The candidates Sho_uld not leave the
Examination Hall without handing over
their Answer Sheet to the Invigilator on
duty and sign the Attendance Sheet twice.
Cases where a candidate has not mgned
the Attendance Sheet second time will
be deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. TUse of Electronic/Manual Calculator is
prohibited.

5 The candidates are governed by all Rules
and Regulations of the examination with
_regard to their conduct in the Examination
Hall. All cases of unfair means will be dealt
with as per Rules and. Regulations uf this

examination.

6. No part of the Test Booklet and Answer
Qheet shall be detached under any
circumstances.

{7. The candidates will write the Correct Test
Baoklet Code as given in the Test Buokletf
Answer Sheet in the Attendance Sheet.

.1:" Each candidate must show on demand his/

o afeis 2l Akl BN AR B sl

1 Piasedl wou v gds Wkl ol 518 otdd,

yleuelia, i 22 Blsd <l

3. ksl s4dl w el Mk Guzal v
oo uRel g SLOA e adl 21 oAl vl &
quia, udl s2ell; o wRauellA wievsl Wil viley
auit il L 53 S, dl Grizal et 2l il
i 30l Al ARl 2L AR et AASR AAML
R

s SasPysaiRa Sagdzel Gudbl FRA 8.

5 ulel danl 22 uRauelHl R e, ke
ozt el ARl 2l 8, 2P uegrel
orell Rl ulau-l arElzel Yoo sl sl
192,

6. i ulel YRRt 21 GrzalRel S5uRL APl AU
Aol g2t s €l

7. el YRRSVGuRARML A WRa yREast sis |
yfeelln wvll A gl qvid,
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